HHEB R TARA Y

Luoyang Hengchang Heavy Machinery CO.,Ltd

[BlaE & | $E85K | FEEiME

Slewing bearing | Slewing ring | Precision bearing



H%

Contents

Zilibly
Company profile

Akl
Enterprise culture

T &5
Processflow
[F1 %8 S AR R R %)) —

Types and series one of slewing bearings

LAY A BRI B SR (01 &R 51D

Single row four point contact ball slewing bearing (01 Series)
PR R BIFE K (11 &A1)

Single row cross roller slewing bearing (11 Series)
HERRA E B3 (02 R 51D

Double row ball slewing bearing (02 Series)

=HEEER A (13 RF)D

Three row roller slewing bearing (13 Series)

56 3 AR U R 51—

Types and series two of slewing bearings

BHAR R B SR (1] R

Single row cross roller slewing bearing (HJ Series)

DT B AERE B K (HS R 51)

Single row four point contact ball slewing bearing (HS Series)
Bl F ST AR R T =
Types and series three of slewing bearings

2 HEDY IR 4 SR (Q R )

Single row four point contact ball slewing bearing (Q Series)

[ % SR SRR AN & 51 Y

Types and series four of slewing bearings

BHERE ORI B 3k (197 &5

Single row cross roller slewing bearing (797 Series)
BRI 25 5 IRIT

Bearing installation and maintenance

82 FH 435K
Application field

HREBR

Model selection information table

15

19

23

28

29

31

33

34

38

39

43

52

53



7kl
Company profile

BHESEETHRAF, BETRWOHIER. A “HAZZRENH=854H —— &
fHe. B—KETWBI. Bk, £/ W8 LRSS T I B SOR /A SGR& R se ik, K
BTHRHEE AN TEBRS, fdEDRRE ARERE T —MAERFE AR N RMBARIA
AW —LAE TN, REEHNEN L& Ll TE, MRIEEORIE 77 5 R E KBRS .
T m FEA = E AR 20-10000mm H 15 S0K / B AR R & T Re 7K. KBUHE I BRI |
EFRHUMRAFSE ™, FERER# POL P6. P5. P4 IUANGESL, =i KRR EHE S HENY R BREE . X
FAER T4 ZHRER T4 SUHERRG . BREBRG 1. MEEZ S5 KRB IRRE S .
PR Z N TRTRER . BT WA BEbe. BE, BN, 5. me. B0 9L . R,
MBRIR RIS, AR SRS OB, M. TMHESDIERMHX, 5
BT R BB R AT
AR BB “ULNAE, B EL, SORAE. MBRE” B ERES; LS. flF. @
g5, =W kIR — IR P FEROATL, ARRKE LT MR BT R E HISR
PEAERE, R EZ T BIRHER R, JIRE R RIR N LR SRR ST, DASEBLE ST AR K

KRR s, HEET “87 &ARK, WATRBOE= AL LIRS HHRHEE !

Luoyang Hengchang Heavy Machinery CO.,Ltd. is located in the beautiful Peony Flower City, known as the
“Bearing Town” of China’s thirteenth ancient capital - Luoyang. It is a comprehensive entity enterprise integrating
professional design, research and development, manufacturing, sales and service of slewing rings and slewing bearings.
Relying on the advantages of Luoyang professional bearing processing base, after vigorous development, the company
has gathered a group of experienced bearing designers and skilled front-line production workers, with advanced
production and processing equipment and testing tools, to ensure the quality of products from the root and technical
services.

Our company mainly produces 20-10000mm diameter slewing bearing and various high precision slewing bearings,
large thrust ball bearings, non-standard special-shaped bearings and other products, The accuracy covers P 0, P 6, P
5, P 4 four grades, product types include single row four-point contact ball structure, cross cylindrical roller structure,
three row cylindrical roller structure. Double row ball structure, ball and roller combination structure, thin-wall flange
structure, large thrust ball structure, etc. Products are widely used in new energy, medical, recreation, automation, lifting,
construction, mining, metallurgy, port, textile, shipping, environmental protection, aerospace, wind power and other
fields. The company’s products are sold all over the country and exported to Europe, America, Asia and other countries
and regions, and have won the approval and recognition of the vast number of users.

The company has always adhered to the value concept of “people-oriented, customer-oriented, technological
innovation, quality improvement”, “pragmatic, innovative, united, efficient” enterprise pioneering spirit; the customer all
needs as the center, to implement personalized optimization design and customized flexible production for different
customers to meet the precise needs of customers. In order to achieve the long-term development strategic goal of
mutual benefit and win-win between customers and us, we strive to provide customers with high cost-effective products
and services. Hengchang Heavy Machinery, “wisdom” to build the future, we only do high-quality products and
professional service provider!



W EARE EEMR

i/ 4

Enterprise culture

AR 55 7K it -

Vision :
Mission:

Spirit .

Values :

T 3 F [ 00 i K A1) 36 2 A7 i O SRR

NG THEELABENT G, AR RASZI
{7

%ir ﬁ'J%?, Izlgél:r %3&;
UARAE, ZPE B HEROH. MBRE.
BANEME. BERATL, HERR;

R ER. b, BEEATARS, —K
afF, ZERK!

Build up China’s high quality bearing manufacturer and
product solution provider;

To build a platform for employees to realize their dreams, to
provide customers with products to realize their values;

Pragmatic, Innovative, United and Efficient.

People-oriented, Customer-oriented, Technological
innovation, Quality improvement, Teamwork, Respect for
employees, Sharing results;

Service commitment :

Free pre-sale, in-sale and after-sale technical advisory
services.A cooperation, lifelong friends!



EALE "ZEMFT ™

JoR 12
Quality Control

WA 2022181 T IS09001 B AR RIME, I 04T IB/T2003-201 LARHE SAHRLH E R ARHE. AF]
WA FERRN &M MR %, £ mEmd B g, PETeLFaRRE, fiREg—%8
R AR AR . LR, AT Ml S 3B 7 98%, ZF I RIFRIKTO0. 6hm &
f= AR B LRI AR S, BEIEMNANE I —BOART 55FPR ! 34— B R KR AUE Sl 23T H EIL
B A I A T RRGEE | kA R E B EE!

Our company has passed the ISO 9001 quality system certification in 2022, and follow the JB/T 2003-2011 Standard

and the Corresponding National Standards. The company has quality testing equipment with advanced testing methods
in every step. In the production process of products, strict implementation of the whole process inspection to ensure that
each set of products are qualified. Over the past three years, our product pass rate has exceeded 98%, customer complaint

rate is less than 0.6%. High quality products and professional services have won unanimously recognized and praised by
domestic and foreign customers! We have always held the belief that is to be China's high-quality bearings manufacturer

and product solutions provider! To make world love "made in China"!

TZHE

Process flow

B ERK RERE. IR
Bt fi% KRR 4 s aimhw

mEMTERW  AmTERRW S T KA

/ dama™

Fe i R £ oY Al LR IR EE. B



BARE HEEMR

R IF
Forgings

Losehgst, MERRORRE, XHERMBAT BRI RS A Eh A e AT AR,  DAGRAE BT R
e EZ bR, UM AR 27 M BT E R
2. BTG, MR BT ANIER RAMVE RS E, MR Rk, RNEL2BRREN T EMM.

1. Select top suppliers, sampling and testing of their raw materials in random to make sure that raw material meets national
standards and mechanical properties meet product design requirements.
2. After the forgings enter the factory, the quality inspectors will perform the appearance inspection and the dimensional

measurement to ensure that there are no obvious defects, and keep enough margin to process the finished products.

—.H%E

Rough turning

1. ZEAEHEE, BTG RSTRAD, MEBEAEMRTRE.

2. BEEHRY, SHERRBEHTESKRES, RUMEAREEESL. Kl BEERHE.
3. WAL, MRIBEEIFEE FRFRER, SHEBRBREHATRRAE, BARAVIMMERE.

4. ABREFERTIN, MRIE AR R B AR SRS

1. Descaling rough turning: according to the size of finished products, reserve enough size margins.

2. Ultrasound flaw detection: the forgings after rough turning are detected by ultrasound, whether there are any defects in the
material: such as blowhole, slag inclusion, lamination and so on.

3. Tempering treatment: according to the national standard or the special requirements of customers, the tempering treatment
could improve the mechanical properties.

4. Hardness testing of tempering treatment:testing whether the overall hardness of forgings is qualified according to quenching

and tempering hardness requirements.

=. EKETHEE

Precision turning before quenching

KRERERE, MBARREESHRBERT RN, MBEARKRTRE, RIEHUINAEHE KT ]
AR, RN XHRIERER TR,
According to the type and size of the raceway structure, a sufficient margin is reserved to ensure that the machine deformation and

quenching deformation can be eliminated, and try to remaining amount is required to be as small as possible.

VU, FIEEK KB KR E

Quenching and temper stability of raceway
RAFHEKTZ, WEEFATERINL, WK XA A E] HRC55-62, A RIREAMET 3mn
WK JGHATEIRASE AT, THIRVEKI AT, Y/ J5 2N 38  HF AR R 1 T 2R KUK o

The raceway is quenched by medium frequency quenching process. The hardness of quenching area reaches HRC55-62, and
the effective depth is not less than 3 mm. After quenching, the raceway is tempered stably to eliminate quenching stress, reduce

subsequent processing deformation and reduce the risk of raceway cracking.



H. B WE. Ra

Detection of hardness, depth and crack

XA K IR AT BERE . A ROR L B R EUIA I, e AL AR i B

Detection of hardness, effective depth and crack in quenched area, especially initial position.
KRR %

Quenched semi-finish turning

TR, AJESA. L& TR Atk

Processing datum level, providing datum for subsequent processing of teeth, holes, etc.
. BT

Tooth processing

>F
4

MIEAFERAEIEE, 7TLLEFEE . WA, ShSMIrE, BESRTLGHL 7-10 &, MFHERRKE,

KRB, WL & 46 4%

According to different kinds of tooth shape, processing methods such as shaping, hobbing and milling can be selected. The

accuracy level can meet 7-10 grades. If higher accuracy is needed, grinding can meet 4-6 grades.

J\s REKINT (5] KRR E A
Hardening, tempering stability and testing of teeth
O R R R A I A, ARIEANF TR . AR TRERALEEAT miAvE K, BB EE AT A2 HRC40-55,

PREEVT I 2 1. bum, VEKJEREATE KRS A03R, BRIEKILST, FRARVEKERALITRNKL, a5 45 Rt AT iE

P& B A

In order to meet the strength and service life of the teeth, high frequency quenching is carried out on the tooth surface, root

and top according to different requirements. The hardness can meet HRC 40-55 and the depth can meet 1.5mm. Tempering

stabilization after quenching , the quenching stress can be eliminated, the cracking risk of the quenched part can be reduced, and

the hardness and crack detection can be carried out after quenching.

Jus FLINI KAy
Hole processing and detection

IR, BE. FUESHE I REEIE, xR IRSOHAT 8 IE AR I

Control the chord length, wall thickness, aperture and other items in the machining process and correct them in time. Inspection

for threads with high accuracy requirements.

+ RN T R A

Fine grinding and testing

X T RARE R, RAREIN L, ARERERME. BE. FHEESH, URIE

it R FEE I AR PR HE RS P I AR R

For high-precision products, precise grinding is used to effectively control the parameters of ring ellipse, wall thickness and

flatness, so as to ensure that the precision of finished products meets the requirements of standards or customer drawings.



EALE HEMR

+—. R
Match clearance
RHENEZRMARS, (TEEHRE, RIERKERKRIR
Accurate measurement of part size, Calculating spare parts allowance, according to the requirements of the drawings to match
clearance.
+,
Assembling
ERERER. BETE, MRRBEREKER, REMENRST IAERREA RFE. BEEHA
il 7 m ¥ R g KA TR

Remove ring burrs and clean up. Install corresponding size and number of rollers, cages, seals and other accessories in strict

accordance with the requirements of assembly drawings. Rotate to detect whether the rotation is flexible and whether there is
any abnormal noise.
=1 Bl
Finished product testing
IETERL, X & BORIEFR AT RN A T

The assembly is completed, detecting whether all aspects meet technical standards

0. RIRARREAR R
Installation of sign mar
WERFER, ZEEARR
Install sign and logo according to customer requirement
+F. R, B
Fill grease and packaging
1 PSR, ARER S BERINEAANES . AR, RIEER LR
2. XA OREREARME, EaKBIRE, IHIST BRI, 17500 r) K& 243 1t
1. Before product packaging, add corresponding brand and type grease according to customer's requirements to protect raceway

from damage.
2. Export wooden boxes suitable for sea transportation are used to ensure the safe arrival of goods at different transportation

distances, storage times and regions.



BEATE HEMR

ey A
Common Structure

b5 SO AR A, BT REHA, RFK. BES. SH8E, SEMREEREMGTIME,
e [FII AR 23 Im) . A2 A) I AU DA B ey, IS RETE sl b A mT DA 1 7042 0. 2-10 2K R ~F Vi Bl A (B 6 S 7K o

Slewing bearings are mostly large bearings,with large size, high precision and compact structure,working under heavy
load at low speed,it can bearing axlal,radial and tilting moment and etc, LY HGB can research and develop outer dia 0.2-10M

slewing bearings.

ey abie Common Structure:
VY 4k X e SR (B 1-1) Four point contact ball slewing bearings(Picture1-1);
WHERRR T & (& 1-2); Double-row ball slewing bearings(Picture1-2);

e N Cross cylindrical roller slewing bearings(Picture1-3);
X BRR T AFFSOR (B 1-3); Three-row cylindrical roller combined slewing bearings(Picturel-4)

=HREAERE T AEES A (B 1-4) ;

(& 1-3) (& 1-4)



1|

W EATRE EEMR

o

[B] % 3L A SRR R 51—

Types and series one of slewing bearings

(JB/T2300-2011) HnifE [R5 Sk 5 77 i
(JB/T2300-2011) standard slewing bearing numbering method

XX X XX XXXX

O @ G (4

() Hmnis: (1) The types of products
01— Y iRk 2 [0 5 30 7K 01-Single row four point contact ball slewing bearing
02— SUHERR 2 [F 56 3 7K OZ-Pouble Row Ball slewing b'earmg '
11-Single row cross roller slewing bearing
11— BHERE SOR T AR 3K 13-Three row roller slewing bearing
13- ZHERAMR FH A FHE K (2) Meshing mode
@ AR 0-No gear type
1-External gear small module
0- Ttk = 2-External gear large module
1- W FF 4 B AE S %8 A i /SR 3-Internal gear small module
02— W2k [F A U5 B0 A S KRR 2 4-Internal gear large module
3— W TR [ M5 0 P s /N RS (3) Diameter of rolling body (steel ball or cylindrical roller)

(4) Raceway center diameter

4 Y T 2R 5 A G 8 Y i A KA
(3) EIMA GRERECEBEH) B
¢ BEHLEER

HAR SRS ZE]

The examples of basic models and specifications

01 2 40 1000

BiE H 0 [F H42 Raceway center diameter centre
#3A H4ZRolling body diameter
1£3))77 A Meshing mode
ZE I The types of products

B RS A RN BN BRSNS CRARSD BIFSOK, MEREAR 40mm, RIEH.OE E4E 1000mm

Therefore, the specifications of this type are expressed as single row four-point contact ball external gear (large modulus) slewing
bearing, steel ball diameter 40mm. raceway center diameter1 000mm

8



m(0] #5m

FAHEN Bk R S0 (01 &40

0

EATE HEL

g

Single row four point contact ball slewing bearing (01 Series)

D1

d1

= 02
| =, % % = | Ul ‘V

. \\\\ N/ | o : |'é ,(/ ns T
e d i\ H dJ
g A

03 a

8 D

Tk A
Non Gear External Gear

ZEMIRE R PRRE. ERITEHE

i

o 1122
1001
h 6820
90N W R
N &;f/
REH 7700
ng i 87
[ p
03
)]
Wtk

Internal Gear

DY R AR B R SR A BRI LR, SRR ERR. NS RTURIE N Sk, f
[l 7R 21 0 AR 1 SRS /5. IR sUnianL. SRERRAENL. T/ ELE A2 AL S TN

PRI AR -

Structural characteristics, performance and scope of application

The single row four-point contact ball slewing bearing is composed of two seat rings. It has compact structure, light
weight, and four-point contact between steel ball and arc raceway. It can bear axial force, radial force and overturning

moment at the same time. The construction machinery of rotary conveyor, welding manipulator, small and medium-sized

crane and excavator can be selected.



oL

HIRB S HMER TR MR WS
Bearing type Boundary Mounting hole Structure dimensions Gear parameters

dimensions diameter RE

Mass
Fihst SR st | D| d|H | p1| D2 o | 03| at| Hi| n e | AES | ke

Non—-gear External Internal n n3 m X
type gear type | gear type mm o o o %% 7 %% 7 | mm

010. 20. 200 011. 20. 200 = 280 | 120 | 60 | 248 | 152 | 12 16 [ 199 | 201 | 50 | 10 | 2/M6X1 | 3 | 300 | 98 - B 401 0 20
010. 20. 224 011. 20. 224 — 304 | 144 | 60 | 272 | 176 | 12 16 | 223|225 50 | 10 | 2/M6X1 | 3 | 321 | 105 = - 40| O 22
010. 20. 250 011. 20. 250 —— 330 | 170 | 60 | 298 | 202 | 18 16 [ 249 | 251 | 50 | 10 | 2/M6X1 | 4 | 352 | 86 = - |40 O 25
010. 20. 280 011. 20. 280 —— 360 | 200 | 60 | 328 | 232 | 18 16 | 279 | 281 | 50 | 10 | 2/M6X1 | 4 | 348 | 94 = - |40 O 28
010. 25. 315 011. 25. 315 013.25.315 | 408 | 222 | 70 | 372 | 258 | 20 18 [ 3141316 | 60 | 10 [ 2/M8X1 | 5 | 435 | 8 | 190 | 40 |50 O 43
010. 25. 355 | 011. 25. 355 013.25.355 | 448 | 262 | 70 [ 412|298 | 20 | 18 [ 354|356 | 60 [ 10 | 2/M8X1 | 5 | 475 | 93 | 235 | 49 |50 O 49
010. 25. 400 | 011. 25.400 013.25.400 | 493|307 | 70 | 457 | 343 | 20 | 18 [ 399|401 | 60 [ 10 | 2/M8X1 | 6 | 528 | 86 | 276 | 48 |50 O 55
010. 25.450 | 011.25.450 | 013.25.450 | 543 | 357 | 70 | 507 | 393 | 20 | 18 | 449 | 451 | 60 | 10 | 2/M8X1 | 6 | 576 | 94 | 324 | 56 |50 | 0O 64
011. 30. 500 013. 30. 500 5 1630 123 | 365 | 74 | 60 |+0.5] 75.8

010. 30. 500 012. 30. 500 014. 30. 500 602 | 398 | 80 | 566 | 434 | 20 | 18 [ 498 | 501 | 70 | 10 [4/M10X1 6 1630 1 102 1366 1 62 1601051 75.8
011. 30. 560 013. 30. 560 5 1690 | 135 | 425 | 86 |60 |+0.5| 94
010. 30. 560 012. 30. 560 014. 30. 560 662 | 458 | 80 | 626 | 494 | 20 | 18 [ 558 | 561 | 70 | 10 [4/M10X1 6 1690 I 112 1226 | 72 160 [50.51 92
011. 30. 630 013. 30. 630 6 | 774 | 126 | 492 | 83 | 60 |+0.5| 110

010. 30. 630 012. 30. 630 014. 30. 630 732 | 528 | 80 | 696 | 564 | 24 18 [ 628 | 631 | 70 | 10 [4/M10X1 8 1776 | 92 | 488 | 62 |60 1+0.51 110
011. 30. 710 013. 30. 710 6 | 852 | 139 | 570 | 96 | 60 |+0.5| 120

010. 30. 710 012.30.710 014.30.710 812 | 608 | 80 | 776 | 664 | 24 18 [ 708 | 711 | 70 | 10 [4/M10X1 8 1856 | 104 1568 | 72 160 1+0.51 120
011. 40. 800 013. 40. 800 8 | 968 | 118 | 632 | 80 |80 |+0.5| 220

010. 40. 800 012. 20. 800 014. 40. 800 922 | 678 | 100 | 878 | 722 | 30 | 22 | 798 | 801 | 90 | 10 | 6/M10X1 019701 92 16301 62 |80 |<0.5] 220
011. 40. 900 013. 40. 900 8 [1064| 130 | 736 | 93 | 80 |+0.5] 240

010. 40. 900 012. 40.900 014. 40.900 1022 778 | 100 [ 978 | 822 | 30 | 22 [ 898 | 901 | 90 | 10 |6/M10X1 10 110701 102 1730 | 72 |80 [+0.51 240
011.40.1000 | 013. 40. 1000 10 |1190| 116 | 820 | 83 | 80 |+0.5] 270

010. 40. 1000 012.40.1000 | 014. 0. 1000 1122 878 | 100 |1078] 922 | 36 | 22 | 998 [1001| 90 | 10 |6/M10X1 12 111831 96 18161 69 |80 I=0.51 270
011.40.1120 | 013.40.1120 10 |1300| 127 | 940 | 95 | 80 |+0.5| 300

010. 40. 1120 012.40.1120 | 014. 40. 1120 1242|998 | 100 |1198]1042| 36 | 22 |[1118[1121| 90 | 10 |6/M10X1 12 113081 106 T936 | 79 180 1=0.51 300
011.45. 1250 | 013.45. 1250 12 |1452] 118 |1044| 88 | 90 |+0.5| 420

010. 45. 1250 012. 45. 1250 | 014. 45. 1250 1390|1110] 110 |1337]1163| 40 | 26 |[1248]1252| 100 | 10 |6/M10X1 12 11456 101 110361 75 190 1<0.51 420
011.45. 1400 | 013. 45. 1400 12 11608 131 |1188] 100 | 90 |+0.5| 480

010. 45. 1400 012.45. 1400 | 014. 45. 1400 15401260 110 [1487]1313| 40 | 26 [1398]|1402| 100 | 10 | 6/M10X1 12 116101 112 111901 86 190 [+0.5 480
011.45.1600 | 013. 45. 1600 14 11820 127 |1386| 100 | 90 |+0.5| 550

010. 45. 1600 012. 45. 1600 | 014. 45. 1600 1740(1460| 110 |1687[1513| 45 | 26 |1598|1602| 100 | 10 | 8/M10X1 6 {18241 111 113761 87 190 170.51 550

H

=

&Y

LIRS A



LL

AR AN RF TEARN GRS SR
Bearing type Boundary Mounting hole Structure dimensions Gear parameters
dimensions diameter g
Mass
FER_ | B %
Tzt SMER KR D d|H D1| D2 | D3| dl1| H1| h Ext gear |Int gear b g
Non-gear | External gear Internal n n3 m D P x
type type gear type mm mm mm mm mxerll 7 ml% 7 | mm
011. 45. 1800 013. 45. 1800 ] B ] | 141 2016 141 11568| 113 | 90 |+0. 5] 610
010. 45. 1800 012.45. 1800 014, 45. 1800 1940(1660]110| 1887|1713 45|26|1802|1798| 100 | 10| 8/M10X1 61 2016 123 115681 99 190 170,51 610
011. 60. 2000 013. 60. 2000 16 | 2272 139 | 1728 109 [120]|+0.5] 1100
010. 60. 2000 012. 60. 2000 014. 60. 2000 217811825(144(2110(1891 |48 |33[2002|1998]132|12| 8/M10X1 181 2268 123 117281 97 11201=0.51 1100
010. 60. 2240 O11.60.2240 | 013, 60, 2240 2418|2065 |144|2350 2131 | 48 33| 2242 |2238| 132 | 12| 8/M10X1 16] 2996 | 159 |1984) 125 ]120] 0. 5) 1250
T 012. 60. 2240 014. 60. 2240 18| 2502 136 | 1980 111 |120]+0.5| 1250
011. 60. 2500 013. 60. 2500 18| 2772 151 |2232| 125 (120 +0.5 | 1400
010. 60. 2500 2678123251144 (2610(2391 | 56 [33 (2502 (2498|132 | 12| 8/M10X1
012. 60. 2500 014. 60. 2500 20| 2780 136 |2220| 112 |120(+0. 5| 1400
011. 60. 2800 013. 60. 2800 18| 3078 168 |2520| 141 (120 +0.5| 1600
010. 60. 2800 012. 60. 2800 014. 60. 2800 2978126251144 (2910(2691 | 56 [33[2802(2798| 132 | 12| 8/M10X1 20 | 3080 151 125201 141 |1201+0. 5| 1600
011.75. 3150 013. 75. 3150 20 | 3480 171 |2820| 142 (150 +0. 5| 2800
010. 75. 3150 012. 75. 3150 014. 75. 3150 3376129221174 |3286 (3014 | 56 [45(3152(3147| 162 | 12| 8/M10X1 29 | 3476 115 128161 129 11501+0. 5 | 2800
011. 75. 3550 013. 75. 3550 20| 3880 191 13220] 162 |150]+0. 5| 3200
010.75. 3550 015 75 3550 T 014,75 3550 | 3776 | 3322|174 3686|3414 56 | 45| 3552|3547 | 162 | 12| 8/MI0X [55T 3894 T 172 132121 127 Ti5010. 5 3200
011. 75. 4000 013. 75. 4000 22 | 4334 194 |3652| 167 [150|+0.5 | 3600
010. 75. 4000 012. 75. 4000 014. 75. 4000 422613772 |174|4136|3864 | 60 |45]4002|3997| 162 | 12| 10/M10X1 25 | 4350 171 136501 147 150 1+0.5 | 3600
011. 75. 4500 013. 75. 4500 22| 4840 271 14158 190 [150]|+0. 5| 4000
010. 75. 4500 [~077 75. 4500 1012 75. 4500 14726 | 4272 [1744636 {4364 | 60 45| 4502|4497 | 162 | 12| 10/M10X1 [T 2850 | 191 121501 167 1150 %0, 5 [ 2000

H

)

HEY

M 2 R



WEATE EEMRE

01 &% £ &
Series 01 Load Chart

™~J Ne
N 29 ol ~~
N 1A Lo i 129
T | SN
£ 4 T\~<{ e . I 1109 g s
é T i Zen ] 109 |
P N L~ Z > W . — 1T 88
= AT J/’\\ = = = : 6 <
<, = N2 : LI A N 2, - N
v - \\ 2 N = = L 3
gZZansw Zanan e S NmmpARER
e s |
S = L N =]
~L _ SN ]
0 20 40 60 0 20 m 60 U 20 40 60
F,X10 kN F,X10 kN F,X10 kN
01*. 20. 200 01*. 20. 224 01*. 20. 250
129
20
~_] L1279 129 L1+
8 o =] i —~ — T
] —_109 0o e 1109
.8 5 — - ~
g 6 - P i = P s E ey
: 1 ™ z o 8.8 z P ~8.8 N,
] = — 200 = 10 — <J
i =t A L] — NL2
e S N2 S 7 S P
X ] ~ N K X s =TT 1 g
=2 s ~ LI N ~ N
= - I~
T~ - ]
~_] V\\
0 20 40 60 70 ¢ 40 80 120 0 40 80 120
F,X10 kN F,X10 kN F,X10 kN
01*. 20. 280 01*. 25. 315 01*. 25. 355
129 [ 129 35 |
25 20 = - ] |
< 10.9-— 1 109 = 129
LT LT 7 25 ]
20 |- ~ P — o L
£ —— ] g ~l_ E 100N
;R : Zosh 5 o -
L AN EH i ] = 1 PBKT Ls, N
S /:(, L1 % L/ = 15 2
1% 10;, 3 3 g SR 2 = gliP ~
S ~. = B S 10~E ~
X \\ ) h ~ = "-..\L(l
~ < 5 < P 5 |
0 o = \120 fy T B o ™ 0 20 40 60 80 100 120 140
F,X10 kN F,X10 kN F,X10 kN
a
01*. 20. 400 01*. 25. 450 01*. 30. 500
40 L] [
< M~ 129
I~ ) =
~L -
o 12,9 | P 1109 60
L~ A —
10.9 30 b, L
.E /,/ g e \)/ ] = = 12.9
% 20 > P N ] 7 2 ¥ ”"’*t;
° //)\58 5 o wj_ A LI TN 2 I e~
= L AA A7 TN N, =V AP% ~ N L8 8
= 4 | ] 2 A S 3 = BN 2
o4 ~ T SHE x | TF ~ N
& << W N 3 0= TN
b N = T T
] 40 80 120 160 0 40 80 120 160 0 50 100 150 200
F,X10 kN FX10 KN F,X10 kN
01*. 30. 560 01=. 30. 630 01* 30. 710

12



01 & HME ML E
Series 01 Load Chart

109
=1 A
- 29
80 . 1
A ]
AT
60 &
& A L
. J/"'
% =
o 0t _ N -
X
171
S L4 SuE
20 N
i 50 100 150 200 250
F,X10 kN
01+, 40. 800
180 I 1/.'29
160 ")1;]9
=
140 ==k Za
o~ 1
120 o ]
8 i v
< 100 1 JU,
< N 9
= 804 - N
X
= 60 \‘
2+—+—
40
1IN
20
\\.
0 90 180 270 360
F,X10 kN
01+, 40. 1120
300 =1~ o —
12.9 8
'l -
-
240
|
- AT TN
5 r TN
z 180 ",
Ry
S Y N
X
= 120 — -+ S T
5
M
60
N
o N
AN
0 1o 220 330 440
F,X10 kN
01+, 45. 1600
29[/ [ F109
585
w Fd
520 (—p 17 w5
A
o0
2 3% X
z b
Z
S 260 b
= ~q
2 o=
K
130 \(2
N
i 190 380 570 760
F,X10 kN

01+, 60. 2240

MX10 kN +*m

MX10 kKN-m

MX10 kKN-+m

MX 10 kN *m

129
120 ]
~| o 109
T
9 B
-
=
- < R
1
60
L7 LA PR
% ~L 2
AP N
4 N
30 p<, \‘
P
|
1] 70 140 210 280
F,X10 kN
01*. 40. 900
129 8.8
L1
¥/ J09
] 7
i v
-1 ‘\/
-
A
12044 =
2
ol N
0
.
.
- ~
\\
N
o 90 180 270 360
F,X10 kN
01*. 45. 1250
450 i
400 129 ]
LA
pdl
LA |
ML A1 L]
Lo LA |
o
/ I "
200 <] W
1 1A
A
=
100 =
2 M~
] AN
1 160 320 480 640
FX10 kN
01+. 45.1800
650 AL109 B T
AV AN % 1
Fa ~
520 P
A
¥
<]
7 ~
390 [ 5
N
Y e i
260 N <
2 \\‘
130
N
|
[ 190 380 570 760 855
F,X10 kN

01+, 60. 2500

0

EARE EEMFR ™

g

109
|
12.9
120
I~ = -
~L /88
e K] P
- PTTAS
Z A = h,
S 60 4 i S \\ 2
X b N
= W 1
-
30
.
0 70 140 210 280
F,X10 kN
01=. 40. 1000
g
%
=
X
=
M N
=
B
60 < <
N
0 110 20 330 440
F,X10 kN
01*. 45. 1400
S0 T T T7108 T T T T T TT T
Y 8
1/
‘I
AA 7
/
-
<300 u
z N
S
=
z
AL
AN
A
0 160 320 480 640
F,X10 kN
01=. 60. 2000
1250 179
=
|
109
1000, 8%
—
F4EP
2 750 7
5 P
zZ P
=
x LA h,
= LI
3 b
250 =
0 260 520 780 910
F,X10 KN
01*. 60. 2800

13



W EARE

T ZE R

01 R Hh £
Series 01 Load Chart

1125 VAl
1 oo RN
P
N
=
: 750 i\ M
- \ B,
= N N
S 500 -
b <
—
50 i
: X
M,
N
0 260 520 780 1040
F,X10 kN
01, 75. 3150
2500 e
A8
2000 <
¥ 1s00
z - X
.
e \
& 1000 S 3
N
500
\
M
0 400 300 1200 1600
F,X10 kN
01, 75. 4500

14

MX10 kN+*m

1900 T
4
A
1520
E
/7
1 140 b
N
<]
760
L2 -
380 \
N
] 350 700 1050
F,X10 kN

01*. 75. 3550

MX10 kN +m

1710 %B-
1520 A
-
1140 -
N
760 ;
380 N\
M
2
0 350 700 1050 1400
F,X10 kN

01*. 75. 4000




11 %%

B SR AR 3K (11 251D

Single row cross roller slewing bearing (11 series)

D1
d D1

di

D3
da
i D2 —
- ! i N
<! “ | || ‘/ = n3 \’i
2| = n}% = 2 l%: /71\3 = %
% \ I n-¢ N
| : | | ¢
{ ™ ol |, W |.—Dz
L 03 i 03
o ) D
Ttk Ak Wik
Non Gear External Gear Internal Gear

ZEMRr . PERE. EHIVEE

BHAR XA A B SOK, M EEAER, SHEE. AR, HIERES, RIEMBD, W%
PHEEEOR R, WAL IZZXHS, REFRINASZHE 7, B AEMB KRR, ) ZHHT
EEIZH . TREIBADEHE ™ L
Structural characteristics, performance and scope of application

The single row cross roller slewing bearing is composed of two seat rings. It has compact structure, light weight, high
manufacturing accuracy, small assembly gap and high requirement for installation accuracy. Rollers are 1: 1 cross-arranged.
It can bear axial force, overturning moment and large radial force at the same time. It is widely used in lifting transportation,
construction machinery and opto-electronicproducts.

15



ol

AR S g(l;zﬁggf Mo%n%liLﬁl gEMR~E Gear pﬁfnﬁers

Bearing type dimensions 1ameter Structure dimensions R
Mass
Ttz iR By 2 Dj djuj dry p2j o] D3| di| Hijh MisN LT ke

Non—gear type | External | Internal gear n n3 m X

gear type type mm mm mm mm 1%1% // r(flﬁ Z | mm

110.25.500 |20 L U209 o | agg | 75 | 566 | 434 |20 | 18| 498 | 502 | 65 [10]a/miox: 01281365 | 74 160 1+0.5] 80
- 9 112. 25. 500 114. 25. 500 6 | 630 [120[ 360 62|60 [+0.5] 80
111. 25. 560 113. 25. 560 5|690 [ 135|425 |86 | 60 [+0.5] 90
110. 25. 560 TR T14.25.560 ] 062 | 458 | 75| 626 | 494 (2018 558 | 562 | 65 |10/ 4/MIOXI — o = T T T Too 5 T o0
110. 25. 630 1125 959 113, 25,650 732 | 528 | 75 | 696 | 564 | 24| 18| 628 | 632 | 65 10| 4/M10x1 oLt 126492 1 83 | 60 1+0.5] 100
- 49 112. 25. 630 114. 30. 630 8 | 776 | 94 [ 488 | 62 | 60 [+0.5] 100
111. 25. 710 113.25. 710 6 | 852 139|570 | 96 | 60 [+0.5] 110
110. 25. 710 TR TTa 25710 | 812|608 | 75| 776 | 644 (24|18 708 | 712 | 65 |10|4/MI0KI = T T T Tro 5 T 1o
111. 28. 800 113. 28. 800 8 | 968 [118 63280 |65 |+0.5| 170
110. 28. 800 o500 T1a 28800 | 922|678 | 82| 878 | 722 (30 (22 798 | 802 | 72 |10|6/MIOKI = = = T o T T Tro 5 | 170
110. 28. 900 - = 1022 778 | 82 | 978 | 822 [ 30 | 22| 898 | 902 | 72 |10 6/Mi0x1 04 1301 736 1 93 | 65 1+0.5) 190
- 40 112. 28. 900 114. 28. 900 10 [1070] 104 | 730 | 74 | 65 | +0.5| 190
110. 28. 1000 111,28, 1000 | 11328 1000 1122| 878 | 82 | 1078 | 922 | 36 | 22| 998 | 1002 | 72 |10]6/mM10x1 FL 120 1161820 | 83 | 65 140.5) 210
- 40 112.28.1000 | 114.28. 1000 12 |1188] 96 | 816 | 69 | 65 | +0.5]| 210
111.28.1120 | 113.28.1120 10 [1300] 127 | 940 | 95 | 65 | +0.5] 230
110.28. 1120 oo oo T 114,28, 1120 ] 1242| 998 | 82 [ 1198]1042| 36 | 22| 1118 | 1122 | 72 10| 6/MI0KL oo o T T =170 5 | 230
110. 32. 1250 1192, 1200 ] 119,92, 1250 1390(1110| 91 | 1337[1163]40 | 26 | 1248 | 1252 | 81 |10|6/M10X1 12 14521 118 110441 88 | 75 1+0.5 350
- oL 112.32.1250 |  114.32. 1250 14 | 1456 101 | 1036 75 | 75 | +0.5]| 350
110. 32. 1400 111,32, 1400 | 113, 32. 1400 1540|1260| 91 | 1487 |1313]40 | 26 | 1398 | 1402 | 81 |10|6/M10X1 12 11608 131 1118811004 75 1+0.5| 400
- oL 112.32.1400 | 114. 32. 1400 14 |1610] 112 |1190| 86 | 75 | +0.5| 400
111.32.1600 | 113.32. 1600 14 18201 127 | 1386 100| 75 | +0.5| 440
110.32.1600 753 Te00 | 112 32 1600 | 740|460 | 91 | 1687 (151345 | 26| 1598 | 1602 | 81 |10|8/MIOKL = T o= T = T T T a0
111.32.1800 | 113.32. 1800 14 [2016| 141 | 1568|113 | 75 | +0.5| 500
110.32. 1800 oo —enoT 174 32 1500 | 1940| 1660 | 91 (1887 1713|4533 | 1798 | 1802 | 81 |10|8/MIOXL [~ o =TT T70 5 T 500
110. 40. 2000 111402000 | 113,40, 2000 9178|1825 | 1122110 | 1891 | 48 | 33 | 1998 | 2002 | 100 | 12| 8/M10x1 22721 139 [1728 11091 90 1+0.5 1 900
- 112.40.2000 | 114. 40. 2000 18 | 2268 123 | 1728 97 | 90 |+0.5| 900
111.40.2240 | 113.40. 2240 16 [ 2496 [ 153 [1984[125] 90 [+0.5] 1000
110.40.2240 570 9290 | 114 20 o201 2418(2065 | 1122350 | 2131 | 48 | 33 | 2237 | 2243 | 100 |12| 8/MLOXL [=Tor oot T2sTr00 111 T 90 1305 T 1000
111.40.2500 |  113.40. 2500 18 |2772] 151 [2232 125] 90 [+0.5] 1100
110.40. 2500 570 3500 1 112 20 2500 126782325 | 112| 2610|2391 | 56 | 33 | 2497 | 2503 | 100 |12 8/MIOX1 [ tometTo=To5o0 175 T o0 T30 2 11100

H

H

&Y

LIRS A



Ll

HiEAS AN R~ ﬁﬂé}t}iﬂ‘ SR WS
Bearing type Boundary Mounting hole Structure dimensions Gear parameters
dimensions diameter
RE
Akl | kR Mass
e SR HiER D d|H D2 | D3| dl |HL|h Ext gearlint ear b ke
Non—gear type|External gear|Internal gear n n3 m X
type type mm mm mm mm Da |7 dat 7 |mn
111.40. 2800 | 113.40. 2800 18 [3078] 168 [2520] 141 ] 90 [ +0.5] 1250
110.40.2800 ["775 40, 2800 | 114.40.2800 | 2070 |2625)|112)2910 2691|5633 | 2797 | 2803 | 100|12| 8/MI0X1 [ o er T = Toma0  127] 90 |0. 5] 1250
111.50.3150 | 113.50.3150 20 [3480] 171 [2820] 142 ] 110[+0. 5] 2150
110.50.3150 115503150 T 112 50 3150 | 3376|2922 | 134| 3286 [ 3014|5645 | 3147 | 3153 |122[12| 8/MIOKL [t A oToer T oo 110 To0 2 T2 150
111.50. 3550 | 113.50. 3550 20 |3880] 191 [3220] 162 [ 110 [ +0. 5 2470
110.50. 3550 ["175 50,3550 | 114.50.3550 |° 0 |3322|134 3686341456 45| 3547 | 3553 [122|12) 8/MI0XL FooTes T maTa0 19T 147 (110 | +0. 5] 2470
111.50.4000 | 113.50.4000 22 |4334| 194 [3652| 167 | 110 [ +0. 5 | 2800
0453997 | 4003 [122]12] 10/M10%1
110.50. 4000 75757600 | 114, 50. 4000 | 1220 |3772|134(4136 38646 / 25 4350 171 |3650| 147 | 110 | +0. 5 | 2800
111. 50. 4500 | 113.50. 4500 22 [4940] 217 [4158 190 | 110 [+0. 5[ 3100
110.50. 4500 [™175750. 4500 | 114, 50,4500 | +/20|4272|134]4636 | 436460 | 45| 4497 | 4503 |122| 12| 10/MI0XL o = o 10 T o0 167 [ 110 [ +0. 5 | 3100
MX10 kN-=m
MX10 kN+m MXI0 KNS ] Mx10 m-:. . - \SMXID k;’"'! 3 - SA s SI & % —_
= 3 s 2 2 = 2 8 s & ° 7 . \ |
\ I 7 LAY T EEENY VENE AREEE AR 5.
o Y A : dEE
s NN < X7 7 | g B AR WA AN ©n s
—_ 7 J | — A\ — il 1 " — [— LI\ | \Qit
— — — i 3 — o0 7 AN — % | | ek )
X Fi i * Y 7 * S Ih ).'\ * >_°<° \ * 3g [ \\ | _— =
- i % 50 5 UHHANONITE B e 5 ARG
= 7 s ENANENRSE o o LA TP IR TT 1] o i = o M E :
g N S = ACHLS g A H & s A g s/ S =
= & ° N, 5 L] e 1 , 7 LAV | l\ o
/ 2 ey e I B g bd
z jm @

B

=

&Y

LA



mEAEE

11 RFIER LR K
Series 11 Load Chart

JeEZE il 5t

¥
il
o
- BT s
) I
] =
: “H ;
B e S
x T
= S 3
HTFS
i
T =
L) i e In- [
F,X10 kN
11x*. 28. 900
]
1 8.
=1 et A
=
€ - <
z k]
B
5 TS
=
[ 0 1 1 208
FX10 kN
11x. 32. 1250
109 ).
- b
»
3
’f
y,
240 pt 4]
_E -
[
g0 R
X
“
: N
80 =
B
o 100 200 300
FX10 kN
11*. 32. 1800
2 73]
i
440
-
B oam
% g
i
=
£ ow R
no
|
n 1. 260 3 520
FX10 kN
11x. 40. 2500
1
£
1200
I,
&
Z
2 M
% S
2
~I.
bt L 3 4 ¢ b3 3.1 b 3]
[ 0 500 T
FX10 kN

18

11*. 50. 3550

WEI0 KN+ m

MX kN m

MXIB KN*m

MXI0 kN=m

0 8 120
FX10 kN

11*,28. 1000

109

120 180
FX10 kN

11*, 32. 1400

100 200 300 400
FX10 kN

11*, 40. 2000

480

2000

1600

400

T80 350

EL
FX10 kN

11*. 40. 2800

A

7300 o
FX10 kN

11*.50. 4000

1t
) e 4 |
S
% o
€ ! H
A i~ =
= - pRL.
g ¥
et P b
- b
a ) ] 150 %
FX10
11*, 28. 1120
] ik
=
=
=
TR R
g I
é i,
=
x
=
L] o 120 180
FX10 kN
11*.32. 1600
0 0.9 .8
pd
7 r
JV
=
]
J( I,
; 330} L .
=
é 2
1
o 130 260 3%
FX10 kN
11%, 40. 2240
8
il
1200 A
P
-
£ 90|
]
e
= 3
I 2N
el
N
2
o 25  s00 750
£,X10 kN
11%.50. 3150
2000 X
|
| 600
£ 200 LE
; .
2 T
=
X
X
a 30 60 900
FX10 kN
11*.50. 4500




02 %71

XHRERA I EE 50K (02 R51))

Double row ball slewing bearing (02 series)

D1 D3
dWl ¥ 22
— e —— I
= i 3
_ "gﬁ S
gLl I
d Py a |
D2 ']
D3 Da
Tk bk W ik
Non Gear External Gear Internal Gear

ZirtFr R ThEE. EHTEE

SHEERA 3 SRR =AM . SNERAIFR RSB, ATEEHIA L TNERE, RE\EZIRA, LH T L
THHEERARMNER. XFIFEEIER @, ETRIMEENARARNTS , GEAZIRKHH
[ AR J13E . AR A FIRTF0. LB R A7, IRIE U IR BT . HEBR A B FE SR B ). A2 1)
FOTHRELECR, SR E . FrliEH T 2R P EU EERPENEEN, REEENFEREIMLE.

Structural characteristics, performance and scope of application

The double row ball slewing bearing has three seat rings. The steel balls and isolators can be directly arranged into
the upper and lower raceways. According to the stress conditions, the upper and lower rows of steel balls with different
diameters are arranged. This kind of open assembly is very convenient. The bearing angle of the upper and lower arc
raceway is 75 degrees. It can bear a great deal of axial force and overturning moment. When the radial force is greater
than 0.1 times the axial force, the raceway must be specially designed. The axial and radial dimensions of the double row
ball slewing bearing are relatively large and the structure is fastened. It is especially suitable for handling tower cranes,
truck cranes and other loading machines that require medium or above diameters.

19



H

f

00ST [ G°0+ | 02T | 80T | 9261 | 6ET | 955C | 8T (20T2) | (802%) 0¥¢¢ "0S 7¢O | 0¥¢g "0S "¢c0
- IXOT/8 |2V 8LT €€ | 87 | 160c | 68€¢ | 061 | S203 | G5VE — — 0¥¢¢ "0S "020
00ST [ G°0+ | 02T | ¢al | 9€6T | 9ST | ¥¥Se | 91 ¢Lae 8L2¢ 0%¢¢ "0G "€20 | 0¥¢g "0S 140
0SIT | §°0+ | 02T | 96 | 2691 | G2 | ¥0€C | 81 (3961) | (8961) 0002 "0S 720 | 000% "0S "Gg0
IXOTIN/8 | LV | 8LT €6 | 8V | 1G8T | 6VIC | 061 | S8LT | G122 — — 0002 "0S "020
OSTT | G°0+ | 02T | L0T [ 9691 | T¥I | ¥0€C | 91 ¢€0¢ 8602 0002 "0G "€20 | 0002 "0S 120
028 [S°0+ | 06 | L6 [9€GT [ 92T [¥902 | 9T (P9LT) | (89LT) 008T "0% "¥#¢0 | 008T "0F "¢c0
IXOTI/8 |6€] 09T 9¢ | GV | 9291 [ V26T | 09T [ 7CIT [9L6T 0081 "0% "020
028 [S°0+| 06 | TIT[OPST | ¥IT [8S0C| VI GE8I 9€81 008T "0% "€20 | 008T "0F "120
0GL |G°0+| 06 | 8 [PPET|CIT [9G8T [ 9T (P9CT) | (899T) 0091 "0% 720 | 0091 "0F G20
IXOTI/8 |6€] 08T 9C | GV | 9LVT [ VLT [09T | VSV T [9LLT 0091 "0% 020
0SGL |G°0+| 06 | L6 [VPET|6CT [8V8T| VI ce9l 9691 00971 "0F "€20 | 009T "0F 120
0S89 [S°0+| 06 | €8 [8VIL|SIT [2S9T | VI (FP9CT) | (89€T) 00¥T 0% 720 | 00¥I "0F "G50
IXOTW/9 [6€] 0ST 9¢ | OV | GLeT [ VST (09T | Fecl [9LST 00¥T "0% 020
099 [S°0+| 06 | L6 [GSTT|VET [PPIT | CT eVl 9EV1 00%T "0F "€c0 | 00¥I "0F "120
08G [SG°0+| 06 | €L [8OOT | VOT [86VI| VI (v121) | (8131) 0§21 "0 720 | 05T "0F G20
IXOTW/9 [6€] 0ST 9C | OV | 92T T [ PLET (09T | VLOT [ 92V 0S2T "0F 020
08G [S°0+| 06 | 98 [8OOT | 2cl [00ST | aT ¢8¢1 98¢1 0621 "0¥ "€20 | 0921 0¥ 120
0Fe [G°0+| 08 | LL | 216 [ LOT [0CET | 2T (T60T) | (860T) 0ZIT "0€ 720 | 0TI "0€ G0
IXOTI/9 | 62| ¥IT GG | 9€ [2c0T [ 8TCT | Wl | 8L6 |29CT 0ZTT "0€ 020
0vE [S°0+| 08 | €6 | 026 [ 6T [0CET [ OT [aan! 8VIT 0ZIT "0€ "€20 | 0CIT "0€ 120
00€ [G°0+| 08 | L9 | ¢6L | L6 [002T| T (TL6) | (8L6) 000T "0€ 20 | 000T "0€ "220
IX0TI/9 |62 V1T GG | 9¢ | 206 8601 | VST | 898 |CVIT 0001 "0€ 020
00€ [G°0+| 08 | 28 | OI8 [ LIT [00ZT | OT G0l 8¢0T 000T "0€ "€20 | 000T "0€ TG0
0S¢ [S°0+| 08 | ¢L | OIL [ 90T [060T [ OT (128) | (818) 006 "0€ 720 006 "0€ "¢30
- IXOTW/9 (62| V1T GG | 0€ | 208 | 866 | el | 89L [GV0T — — 006 "0€ 020
0S¢ |G°0+| 08 | 06 | GIL [ €ET [880T| 8 66 8¢6 006 "0€ €20 006 "0€ 120
002 [S°0+| 08 | 29 [ 019 | 96 [ 066 [ OT (TLL) | (8LL) 008 "0€ 720 008 "0¢ "¢20
IXO0TW/9 62| V1T ¢c | 0€ | 20L | 868 |¥al| 899 | V6 008 "0¢ 020
002 [G°0+| 08 | 8L | 919 [ 02T | ¥86 | 8 G328 828 008 "0¢ "€20 008 "0¢ 120
OFT [S°0+( 09 | 0L | 296G [ SOT | ¥98 | 8 (L89) | (€69) 0TZ "S¢ 720 0T. "S¢ "¢20
IXOTW/¥ 92| 96 8L | Ve | 0€9 | 062 |90T | ¥6S | 928 0T. "S¢ "020
OVT [S°0+( 09 | ¥6 | 89S [ T¥WI [ ¥98 [ 9 L2l €elL 0T.L 92 €20 0TS¢ 120
0€T [G°0+| 09 | 09 | GLV | 96 | C6L | 8 (L09) | (€19) 0€9 "§2 120 0€9 'S¢ "¢20
- IXOTI/¥ |92| 96 8T | V2| 08G | OTL |90T | VIS | 9L — — 0€9 'S¢ "020
0€T |S°0+| 09 | I8 | 08% | 6CT | 26L | 9 L9 €99 0€9 "G2 €20 0€9 'S¢ "120
GIT |[S°0+( 09 | 69 | 80% [ GIT [ 80L | 9 (L€9) | (€¥9) 096 "§¢ ¥¢0 09¢ "4¢ "¢20
IXOTI/¥ | 92| 96 8T 102 | 08V | OF9 |90T | V¥V | 929 09S "GZ 020
GIT |S°0+( 09 | ¥8 | GIV [ 8ET [ SOL | & LLS €89 09§ "S¢ "€20 096 "S¢ "1260
00T [S°0+| 09 | 65 | 8¥€ [ SOT [ 879 | 9 (LLY) | (€8F) 00S "6 120 00¢ "6¢ "220
IXOTI/¥ |92| 96 8T |02 | 02V | 085 |90T | ¥8€ | 919 - - 00§ "SZ "020
00T [S°0+| 09 | L | GS€ [ 92T | SV9 | S LTS ] 00§ "5 "€20 00§ "S2 "120
uw (7 ﬁw Z ﬁm Uux Ut Ut s od£y aeo8 odfy Ieo8
mv_ X i cu u TeuIolU] [euUILIXy |odA) JeSS—_UON
JeoS Ju[[JIeds 31X L I L I T 171
— q ﬁ_ﬁwm ﬁ.ﬁw% gl | e | ea |0 2a |1a |u|p |a ¥R ¥ Y
< — T T
|
= Jojeuwerp SuoTSuULWIP
sIojoueted Jeor SUOTSULUWIpP ©aN)ONILS 910y SUuTIUNOK £repunog odA) 3uraeog
WG AN PR | BN £ TOH

20



L2

HRA S AN R SF ﬁ”z%‘i‘uﬂﬂ“ ZEMR~F WS
Bearing type Boundary Mounting hole Structure dimensions Gear parameters
dlmensmns dlameter
RE
AR | AIER Mass
bR JIRTS TN D| d|H| p1| D2 o| D3 | d1 [H1]|h Bxt soor|Int weer| P ke
Non-gear |External gear| Internal n n3 m X
type type gear type mm mm mm mm Ir%:% 7 %1% 7 | mm
020,50, 2500 |—021:50:2600 | 033.50.2600 | [ Nt 2638 | osse | f aAlonl 18 | 2804 | 153 [ 2196 | 123 | 120 [ +0.5 | 1700
T 022.50.2500 | 024.50. 2500 (2468) | (2462) 20 | 2820 | 138 | 2180 | 110 | 120 | +0.5 | 1700
021.50.2800 | 023.50. 2800 2838 | 2832 18 {3114 ] 170 [ 2484 ] 139 | 120 [ +0.5 | 1900
020.50.2800 055 50,2800 | 024.50. 2800 | 012 | 2685|190 2049 | 265156133 7070 Tare) | 70| 7| ¥ o0 T5120 | 153 [ 2480 ] 125 | 120 [ #0.5 | 1900
021. 60. 3150 | 023.60. 3150 3198 | 3192 20 | 3540 | 174 [ 2760 | 139 | 150 [ +0.5 | 3300
020. 60. 3150 025 60,3150 | 024, 60. 3150 | > 20 | 2872|226 3338 | 206256 145 17 0 T 109 | 214 %6 | 8MIONL 199 T34z [ 158 [2750 | 126 | 150 | #0.5 | 3300
021. 60. 3550 | 023.60. 3550 3598 | 3592 20 | 3940 | 194 [ 3160 159 | 150 | +0.5 | 3700
020.60.3550 [~025 60 3550 | 024, 60. 3550 | 020 | 3272 | 226 | 3738 | 336256 | 45 700 oo T(as02) | 24| %8| B/MOX 155 Ts038 [ 176 | 3168 | 145 | 150 | +0.5 | 3700
021. 60.4000 | 023.60. 4000 4048 | 4042 92 | 4400 | 197 | 3608 | 165 | 150 | +0.5 | 4200
4 60 | 45 214 {56 10/M10x1
020.60. 4000 |™505"50 4000 | 024, 60.4000 | =1 | 3722|226 | 4188 | 3812 (3958) | (3952) / 25 | 4400 | 173 | 3600 ] 145 ] 150 | +0.5 | 4200
021. 60. 4500 | 023. 60. 4500 4548 | 4542 22 | 4884 [ 219 [ 4114 188 | 150 [ +0.5 | 4700
020. 604500 [~025 60, 4500 | 024.60. 4500 | *11° | 4222 | 226 | 4688 | 4312160 45 0y oo T Caamay | 214 %6 | 10N o5 Tao00 | 193 [4100 | 165 | 150 | 0.5 | 4700
MX10 kN +m wn O
= 3 8B 8 & 8 MX10 kN<m MX10 kN +m (CHE NG
. M)(likN'mm . . \ \ \\ l f MX10 kN*m - = g 8 4 & 3 5 & © :?- \
NN A g 1/ o T NR y \ ] @ N
| g Q{
S S g \ / = S g AV B g \ 8 —
F e DACRER . . N7 L y - FENN \h
g = 7 N ss A & = & | & e & = I N '/
o ig i Y o o 5. o s = 7 v o g s-HAEHH AN o }“;ftt
8 s NN 5 28 W 8 ;° N 8 5[ LIS 8 R T R =
N 3 s = HH SHRG L o yanpaymumuucmsiiie ==
g Fe7 N 3 DS sl gHA Al nyan s A
: SN HY 3 W ipaam - =
EiEii g eV iz 5 ®
74 | =y

B

H

=7

M 2 R



mEAEE

02 ZF iz K
Series 02 Load Chart

JeEZE il 5t

L4
. 1
BT
i
s
g N
E P
S =
3
J Ry
o o 20 210
FX10 kN
02+, 30. 900
A% 29T
P I
1 1
jATaRE
A
g 150 1
7 s T 5
E 7 ‘).‘b‘ =3 e
x
= ) 1
%
b
h,
1 O O O O I
o (L] pall} 330 388
F,X10 kN
02+, 40. 1250
>4 TiZs
480 LA
EdPIN
360
5 B
& LA AN
= 240 SEm
X
] 5 i
1 .
104
T
AN
o 180 360 54
F,X10 kN
02+, 40. 1800
75 [}
T L
=
comme
20 y
Vi /(
g 540
%
% 30 i
180
[ 230 6 60
F,X18 kN
02+, 50. 2500
8
1600 T
S =
1280 \ i
7
£ 90 X
] P
= U
xi; 840, N
= 1
i
A% I
o 320 640 560 1280
F;X 10 kN

22

02+, 60. 3550

ME10 KN +m

MXI KN+ m

MX10 kN*m

MXI0 KN+m

MX10 KN+m

10.9
135 T T
hE]
120 =
e
=
- L)
€ =
2
60 SuEAT,
Pl
= =
b
n
o 60 120 180 240
FX10 kN
02*, 30. 1000
360 J22
320 T
240
8
= sl Lt Ll L]
160 A4 B
T
80 A
4
|
o [ 280 420 490
FX10 kN
02+, 40. 1400
Lol z‘l@ 8
!
480
-
360 '8 Y
40
5,
b
1
N3]
A
[ 1 360 540
F,X10 kN
02*, 50. 2000
w00 e
!
710{ A {T-'- Z |
540
1
~
360
AN
¢ Im [ [
FX10 kN
02*. 50. 2800
1391 T
2 I
- 7 |88
P
"
ve ||
159 £
Y T
1
ST
530
] 250 900 1350
FX10 kN
02*, 60. 4000

MX10 KN*m

MXT0 KN em

MX10 kN-m

MX10 kN =m

MXI kN+m

135 P
1= ln‘Lg Ix
-
=
TP =
a4
30
0 A I T
FX10 kN
02+, 30. 1120
o T el |
1
10 |_1r|
£
™ 1 Lt
40 :’) Z
L ]
% ]
10T
" T ™ A o
FX10 kN
02*. 40. 1600
810 F129]
A
720 2 |
A 109
3.8
Al A
540
s
% ~
360 -
-‘\\
i
180
2
0 230 460 690
FX10 kN
02+, 50. 2240
Hleos 109 7
L1
1280
<
968
L 1
640 P
My
By
0 320 640 960
F,X10 kN
02+, 60. 3150
L 129
S 4109
< 3
AB:
2400 y
1800 P
i
-
1200
T
b K
LIIA T I I] 1]
o 500 1000 1500 2
F,X10 kN
02*. 60. 4500




13 #51

=HRRAEEEE SR (13 RF1D

Three row roller slewing bearing (13 series)

dl oo L d

n,

Ttk Stk Wik

Non Gear External Gear Internal Gear

ity R ThRE. EMVEE

=HERAE B SRA = EE, BT RERRES 2T, S5 —HEREN RS Tt
IMUABARE . RENS R AR 32 5 R BT, R DURP G507 i R BB JI iR KO — s B, A RO #REK,
ZRER, FHEHTERBRKEERNERNMN, w3y, =08, MAREN. O
REN. WEEEE LAMAR R ENETM L.

Structural characteristics, performance and scope of application

Three row roller slewing bearing have three seat rings, the upper and lower raceways and the radial raceways are
separated, so that the load of each row of roller can be determined accurately. Being able to bear all kinds of loads at the
same time, it is the largest one of the four structural products with large axial and radial dimensions and firm structure. It
is especially suitable for heavy machinery requiring larger diameter, such as bucket wheel stacker and reclaimer, wheel
crane, marine crane, port crane, ladle turret ,large tonnage truck crane and so on.

23



ve

AR S SERSE | AR SR wH S
Bearing type Boundary | Mounting hole Structure dimensions Gear parameters
dimensions diameter RE
= T Mass
CANEN i kg
TR ShE R R D d|H| D1| D2 0} D3 dl |H1|h Ext gearllnt gear b
Non—gear External Internal n n3 m X
type gear type | gear type mm mm mm mm Da 7 da 7 | mm
mm mm
131.25.500 | 133.25.500 537 526 |32|10] 2X4/M10X1 | 5| 665 | 130 | 335 | 68 | 80 |+0.5| 224
Ty 132.25.500 | 134. 25. 500 631]]366]|149) o98]]|402/j24 ] 18 474 463 |32|10] 2X4/M10X1 | 6 | 666 | 108 | 336 | 57 | 80 |+0.5| 224
131. 25. 560 | 133. 25. 560 597 586 |[32|10| 2X4/M10X1 | 5| 725 | 142 | 395| 80 | 80 [+0. 5| 240
180, 2, 5150 132. 25. 560 | 134. 25. 560 e R IR e | 534 523 |[32]10] 2X4/M10X1 | 6 | 726 | 118 | 396 | 67 | 80 [+0. 5| 240
131.25.630 | 133.25.630 667 656 |32|10] 2X4/M10X1 | 6 | 810 | 132 | 456 | 77 | 80 |+0.5| 270
130.25. 630 50 05 630 | 134, 25. 630 | O+ | 496 |148] 728 | 532 | 28| 18 7 503 [ 32 [10] 2xa/M10x1 | 8 | 808 | 98 | 456 ] 58 | 80 |+0.5] 270
130. 25. 710 131.25. 710 | 133.25. 710 g44 | 576 1148l 808 | 612 |28 15 747 736 |32|10] 2X4/M10X1 | 6 | 888 | 145 | 534 [ 90 | 80 |+0.5| 300
T 132.25. 710 | 134. 25. 710 (684) 673 |32|10] 2X4/M10X1 [ 8 | 888 | 108 | 536 | 68 | 80 |+0.5| 300
131.32.800 | 133. 32.800 841 830 |32 (10| 2X4/M10X1 | 8 [1008] 123 | 592 | 75 |120]+0. 5| 500
TS 132.32.800 | 134. 32.800 9641 636]]182) 920]jj680 136 ]122 (770) 759 |40 |10] 2X4/M10X1 [10/1010f 98 [ 590 60 [120|+0.5| 500
131.32.900 | 133. 32.900 941 930 |40 [10]| 2X4/M10X1 | 8 [1104] 135 | 688 | 87 |120]+0. 5| 600
180, 62, B0Y 132.32.900 | 134. 32.900 10641 73611821 10201 780136 {122 (870) |(859) |40 |10| 2X5/M10X1 [10]/1110] 108 | 690 | 70 [120[+0.5| 600
131. 32. 1000 |133. 32. 1000 1041 1030 |40 [10] 2X5/M10X1 |10/1220f 119 [ 780 | 79 |120]+0. 5| 680
130.32. 10001 55 ™59 1000 [134. 32. 1000] 1 18%| 836 |182[1120] 880 1401 22 707 311950 |40 [10] 2x5/m10x1 |12]1224] 99 | 780 | 66 |120]+0. 5] 680
131.32. 1120 [133.32.1120 1161 1150 |40 [10] 2X5/M10X1 |10(1340f 131 [ 900 | 91 |120]+0. 5| 820
L0, S, LA 132.32. 1120 |134. 32. 1120 1284] 956 | 182] 1240f1000] 401 22 (1090) | 1079 | 40 [10| 2X5/M10X1 |12{1344| 109 | 900 | 76 |120|+0.5]| 820
131. 40. 1250 |133. 40. 1250 1300 1290 |50 [10] 2X5/M10X1 [12|1512| 123 | 984 | 83 |150/+0. 5| 1200
130 40 12501735 "4 1250 [134. 40. 1250] - 442|10°0|220| 139311071451 26 701 577500 [ 50 [10] 2x5/M10x1 [14]1512] 105 | 980 | 71 |150]+0. 5] 1200
131. 40. 1400 |133. 40. 1400 1450 1440 |50 |10| 2X5/M10X1 |12|1668| 136 [1140| 96 |[150(+0. 5| 1300
L0, €L 1AL 132. 40. 1400 |134. 40. 1400 15951204[220] Exaf i 2sTe] 26 (1360) | 1350 |50 [10] 2X5/M10X1 |14|1666| 116 [1134| 80 |150|+0. 5] 1300
131. 40. 1600 |133. 40. 1600 1650 1640 |50 [10] 2X5/M10X1 [14|1876| 131 [1330] 96 |150|+0. 5| 1520
e 132. 40. 1600 |134. 40. 1600 1795)1405(2201743|1457) 48 | 26 (1560) | 1550 |50 [10] 2X5/M10X1 |16[1872| 114 [1328| 84 |150|+0. 5| 1520
131. 40. 1800 |133. 40. 1800 1850 1840 |50 [10] 2X5/M10X1 |14(2072| 145 [1526] 110 |150|+0. 5| 1750
L0, el Ll 132. 40. 1800 [134. 40. 1800 ) Bk P [ 8] 228 1760 1750 |50 [10] 2X5/M10X1 |16(2080| 127 [1520] 96 |150|+0. 5| 1750
131. 45. 2000 |133. 45. 2000 2055 2033 |54 |12] 2X6/M10X1 [16]2304| 141 |1696{ 107 |160|+0. 5| 2400
Lol 132. 45. 2000 |134. 45. 2000 2221 1779[23112159]18401160] 33 (1967) | 1945 |54 |12| 2X6/M10X1 |18/2304| 125 [1692| 95 [160[+0. 5| 2400
131. 45. 2240 |133. 45. 2240 2295 | 2273 |54 |12| 2X6/M10X1 |16|2560| 157 [1920| 121 [160 [+0. 5| 2700
.45, 2461(2019|231|2 2
180, 45, 2240 132. 45. 2240 [134. 25. 2240 019]231]239512089{60 33 2207 2185 |54 12| 2X6/M10X1 [18]2556( 139 |1926( 108 |160|+0. 5| 2700

H

=

HWER &Y



Sc

NN

ZIALRT

HiA&RS Boundary | Mounting hole SR~ WS H
Bearing type dimensions diameter Structure dimensions Gear parameters RE
Mass
AR | AR kg
TR St HE D d| H | D1| D2 o D3| dl|Hl|h Ext fear|lnt gear b
Non—gear | External Internal n n3 m i X
type gear type | gear type mm mm mm mm 111)1% 7 ml% 7 | mm
+
130. 45. 2500 131. 45. 2500 133. 45. 2500 979112279 | 231 2655 2345 | 72| 33 25552533 |54 (12| 2X8/M10X1 | 18 | 2826 | 154 | 2178 | 122|160 [+0. 5| 3000
132. 45. 2500 | 134. 45. 2500 2467 [ 2445 |54 (12| 2X8/M10X1 | 20 | 2820 | 138 2180 |110|160 [+0. 5| 3000
131. 45. 2800 | 133. 45. 2800 285512833 |54 |12| 2X8/M10X1 | 18 3114|170 | 2484 |139|160(+0. 5| 3400
130. 45. 2800 302112579 231 |2955( 2645 |72 |33
132. 45. 2800 | 134. 45. 2800 2767 | 2745 |54 12| 2X8/M10X1 | 20 | 3120 | 153 | 2480 | 125|160 [+0. 5| 3400
131. 50. 3150| 133. 50. 3150 321313196 |65|12| 2X8/M10X1 | 20 | 3540 | 174 | 2760 |139|180|+0. 5| 5000
130. 50. 3150 3432|2868 270 [3342]| 2958 |72 | 45
132. 50. 3150 | 134. 50. 3150 3104 [ 3087 |65 (12| 2X8/M10X1 | 22 | 3542 | 158 | 2750 | 126|180 [+0. 5| 5000
131. 50. 3550 | 133. 50. 3550 3613|3596 |65(12| 2X8/M10X1 | 20 | 3940 | 194 | 3160 [159]180|+0. 5| 5600
130. 50. 3550 38323268270 [3742] 3358 |72 | 45 /
132. 50. 3550 | 134. 50. 3550 3504 [ 3487 |65 (12| 2X8/M10X1 | 22 3938 | 176 | 3146 | 144|180 (+0. 55600
131. 50.4000| 133. 50. 4000 4063|4046 |65|12| 2X8/M10X1 | 22 | 4400 | 197 | 3608 |165]|180|+0. 5| 6400
130. 50. 4000 428213718270 {4192 3808 [ 80 | 45
132. 50. 4000 | 134. 50. 4000 3954 (3937 [65|12| 2X8/M10X1 | 25 | 4400|173 | 3600 |145]|180(+0. 5| 6400
131. 50. 4500 | 133. 50. 4500 4563 | 4546 |165|12| 2X8/M10X1 | 22 | 4906 |220| 4114 | 188|185 |+0. 5| 6942
130. 50. 4500 4782142181 270 |4692| 4308 |80 | 45 /
132. 50. 4500 | 134. 50. 4500 445414437165 |12| 2X8/M10X1 | 25 [ 4900 [ 193 | 4100 | 165|185 |+0. 5|6942

H

=)

&Y

M 2 R



WEATE EEMRE

13 K52 A
Series 13 Load Chart

60 | . 30 <L u
0
~ e
~
g [~ P |~
~J A o q 129
. g
403 1295 o B A1z g ™~
< ] kil . - B
L —~_ ﬁf: N z < NG o <o :
=] — 3 - LAT10.9 T ) v '\\I
S A A s LY X B al’ < 2 =
20 //,// R X 2 V// L1 = 7
L7 -
= - 205 LA
¥ =
0 70 140 210
9 W IR U 1 70 140 210 280
F,X10 kN F,X10 kN FX10 kN
13*, 25. 500 13+. 25. 560 13*, 25. 630
160 [
12[9 200 ]
N
100 v N 129
™Sk 120 ~ 10.9
S c o g 150 N
80 . - 4 d
£ N z = z Bl 109\
. 12.9 _ 3. N e >
Z e = 80 = A1 1 Nl "2
5 % Pl > 2 x 10T 88 NN
- Pl N S B ] N ¥ L QN
é e 1 N < 4 \\ p P
Rl Vo
AN 40 soF 1 N
0 110 220 330 0 110 220 330 440 [i] 140 280 420
F,X10 kN F,X10 kN F,X10 kN
13*, 25. 710 13*, 32. 800 13+, 32. 900
250 T T A |
| 280 L |
1 1 =~ 400 [ 12.9
200 N \}\ 1129 A I 129 - ™.
= ™~ ¥
i LT 210 : <09 c 3 10
E 150 2 3. E A > - 300 Ny
. = 5] A 9] z .
3 4 5 // L~ o 2 N - \‘
z 7 T N g M7 S 3 7 i NG
E 100 e A, % v ‘.; S 200 = I
= P AL N R S
p 20 14 3 7
50 74 - N 100
|
|
0 140 280 220 560 i 170 340 510 i 200 00 500 200
F,X10 kN F,X10 kN FX10 kN
13+, 32. 1000 13+, 32. 1120 13%, 40. 1250
560 = | 700
] |
129 =S 5
420 b4 A s %
,10.9
= n >\ ‘§<"\'°‘° R T
P N £ =
z D A E 40 540 AR
280 L, z g —
= F 838 4 ] 38 N 1] 2 o
‘>.‘§ - - 3 280 ///‘ s o 360 A L3S b il S E
3 ¥ -
) i L s 4 ;j S
140 [ LA b e
< 140 4 180
0 250 500 750 i 250 500 750 1000 i 300 600 900 1200
F,X10 kN F,X10 kN FX10 kN
13*, 40. 1400 13+. 40. 1600 13*, 40. 1800

26



1|

EAEE "EEMR ™

g

13 Rz
Series 13 Load Chart

109 109
F109
1080 1294 PR } Letd I : A
T T 129 Se //1291
] A 1080 - “ P
g
88
E 810 AR AN 1200 A
4 z //'l R g 810 A LALX £ 4
= y 1 3 S 7, g
3 540 P N = A LA s 800 7
pd ™ g s ;! % 7 \ r
= Y : 7 v N I
270 X 400 ]
2 270 N2
‘(\L s
I N
0 400 300 1200 1600 o i P TTas 0 500 1000 1500 2000
F,X10 kN FX10 kN FX10 kN
13+. 45. 2000 13+ 45. 2240 13+. 45. 2500
3500
ey 29[ | I L] 120 5400 5]
¥ 00 38 AT 1109 A
7 d » &\ f’( 7 4800 =
2800 //V —F 2800 5 AN //u.t_rg__”
LV = B & \(’ L
& 2100P & 2100 N & 30N
£ TP % h N . W
z g 4 ] z %
- bt L ° = 2400/
X 1400 N X 1400 = i N, b 1]
S X X = A Y 1
2 \ b % ML N <
N 1200 ™~
700 N 700
N i 9
0 650 1300 1950 [l 650 1300 1950 2600 L 900 1800 2700
F.X10 kN FX10 KN F,X10 kN
13+, 50. 3150 13*. 50. 3550 13+. 50. 4000
129 | |
400 AT (109 [ 38
4500 L
/
v
KT T TS
FTR T N
21 .
8 3600 1 /,( =
] - X 1
=~
5 2400' H . \\
=
N
1200 f
N
o
2
Nl
0 900 1800 2700
F,X10 kN

13+. 50. 4500

27



W EATRE EE MR

B2 SC AR M R 51 —
Types and series two of slewing bearings

(] 5% 527K G 5 7 15

The standard slewing bearing numbering method:

X X X XX XXXX X

e G G 6 ()

A — RIS
RS 3
Gear modulus::j:)de , A-Large module

AT MR

Without A :small module

BIE RO B4 mm

Raceway center diameter

Rk ER:  CPBEREREME ) B2

Rolling body diameter:Steel ball or cylindrical roller mm

B—LR, No gear
1&35) 75 3 AE W—4ah k= External gear

Meshing mode
N—RH R Internal gear

— J— 2 XEHEIR J cross roller type
e
Product category —S—HLHENY fi#EAmI S single row four point contact ball type

e %% 37 A5 H

Slewing bearing code H

28



EALE "EMR

HJ %7

B R R SR (H] R 5D

Single row cross roller slewing bearing(HJ series)

D1 Do D1

D2 bt DL

DL do
02 =

=
]
-

<
7
h

¥
1

n3

2]
L
h
I
LN
\
Hl
H
H1
%%
[
.
\
b

Zn3

%07
\
R

Tt shik Py i

Non Gear External Gear Internal Gear

o RL TRBE. EHVEE

BHR ORI B SOR , PN BRI, SR %E. R, HIEHES, KT, X
TEFNEEERS , BN 11 ZXHF, ReRRAZ RS, SR EMEBRRRR T, 2
TREER. TR E,

Structural characteristics, performance and scope of application

The single row crossed roller slewing bearing is composed of two seat rings,which design in compact structure and
light weight, the clearance is small when assembly, so need high installation precision. The rollers are 1:1 cross arranged,
it can bear the axial force, tilting moment and relatively large radial force.It is widely used for hoisting,transportation,cons
truction machinery,and the opto-electronicproducts.

29



0¢

&S GME RS ZIALR: gir RF WS
Bearing type Bound: Mounting hole Structure Gear parameters
dimensions diameter dimensions R
i3
P s Mass
- i3 - D| d|H| D1| D2 o | DL| Hl|h b k
Non—ge_zgr Ext-eﬁI"T:gl Ir'ﬁgrzgl n n3 m |—EXt gear Int_gear £
type gear type gear type mm mm mm mm mm X %% 7 X 1(1111% 7
HJB. 20. 625 HJW. 20. 625 HJN. 20. 625 725 | 525 | 80 | 685 | 565 | 18] 18] 625 | 68 [12] 3 | 60 5 |+1.25| 751.9 | 146 | +0.35| 498.8 | 101 100
HJW. 20. 625A HJN. 20. 625A 6 |+1.00| 755.5 | 122 [ +0.35 | 496.7 84
1B, 20. 720 |H%.20.720 [ HIN.20.720 | g90 [ 620 [ 80 | 780 | 660 | 18| 18| 720 | 68 |12 3 | 60 [-6|+1.25] 860.3 [ 139 [+0.35] 586.6 | 99 | 59
HJW. 20. 720A HJN. 20. 720A 8 1+0.85] 861.1 | 104 [+0.35| 582.3 74
4B 30,820 | 1i%.30.820 | HIN.30.820 940 | 705 | 95 | 893 | 749 | 24|20 | 820 | 83 |12 4 | 70 [-6 | +1.25] 980.4 [150 [+0.35| 664.5 | 112 | 5)g
HJW. 30. 820A HJN. 30. 820A 10 [+0.851] 986.2 | 95 | +0.35 658 67
1B 30. 880 | HI-30.880 | HIN.30.880 T000 760 [ 95 | 956 | 800 |24 20| 80 | 83 |12] 4 |70 |8 | +L0 10475 107 [+0.35] 718.2 [ 01 | 539
HJW. 30. 880A HJN. 30. 880A 101 +0.85] 1046.3 | 101 [+0.35| 707.9 72
HJB. 30. 1020 L. 30. 1020 | HIN.30.1020 11170 | 875 | 95 | 1120 | 930 |24 |22|1020| 80 [15| 4 |70 | B1+1.2511219.3 1 148 1+0.35} 830.1 1105} 349
HJW. 30. 1020A | HJN. 30. 1020A 10 [+1.00] 1219.2 | 118 | +0.35 | 827.8 84
HJB. 36. 1220 |- 36.1220 | HIN. 36.1230 1345 | 1075 120| 1310 1130 36 | 24 [1220{105|15| 6 | 90 (101 +1.2611424.9 1 138 1 +0.351 1027.8 1 104 | 450
HIW. 36. 1220A | HJN. 36. 1220A 12 1+0.85] 1435.9 | 116 [ +0.35] 1017.3 | 86
1B 36. 1250 | LIV 36.1250 | HIN.36.1250 [1400 | 1090 [120] 1350 | 1150 | 36 | 26 | 1250| 105 | 15] 6 | 90 [L0]+0.35] 1443 T1a3]+0.35[ 1037 [105 [ 59
HJW. 36. 1250A | HJN. 36. 1250A 12 | +0.85] 1449.6 | 117 | +0.35 | 1028.8 | 87
HJW. 36. 1435 HJN. 36. 1435 12] +1.0 | 1655.5 | 134 | +0.35| 1221.1 | 103 | @1g
HJB. 36. 1435
HIW. 36. 1435A | HJN. 36. 1435A 1595 | 1278 [ 120 1535 | 1335 | 36 | 26 | 1435|105 15| 6 | 90 14140851 16612 | 115 1 +0.351 1214.8 | 83
HJB. 45. 1540 HJW. 45. 1540 HJN. 45. 1540 | 17201 1360 | 140] 1660 | 1420 42|26 11540122118 6 [ 110 12| +1.4 ] 1780.8 | 144 | +0.35 | 1293.1 | 109 732
HJW. 45. 1540A | HJN. 45. 1540A 14| +1.0 | 1791.1 | 124 | +0.35 | 1284.8 | 93
HJB. 45. 1700 | BI-45.1700 T HIN.45. 1700 | 1g75 | 1525 | 140] 1815 | 1585 | 42 | 29 | 1700|122 |18 6 [110] 14 ] +1.0 [ 1045.4 1135 [+0.35[ 1452.7 [ 105 | g4y
HJW. 45. 1700A | HJN. 45. 1700A 16 | +1.0 | 1950.8 | 118 | +0. 35 | 1452.3 | 92
1B 45. 1880 | LIV 45.1880 | HIN.45.1880 |9)00[ 1665 |160] 2030|1740 [ a8 | 32 | 1880|140 |20] 6 15| 14 +1.25] 2180.8 [ 152 [+0.35 | 1502.6 [ 115 [ 1499
HJW. 45. 1880A | HJN. 45. 1880A 18] +1.0 | 2194.6 | 118 | +0.35 | 1579.9 | 89
HJB. 45. 2115 | HLN-45.2115 | HIN.45.2115 | 9395|1900 | 160] 2245 | 1980 | 48 | 32 | 2115 | 140|20] 6 [115[ 16 +1.25 | 2406.5 ] 146 [ +0.35 [ 1804.1 [ 114 | 1499
HJW. 45. 2115A | HJN. 45. 2115A 20| +1.0 | 2418.4 | 117 | +0.35 | 1795.4 | 91
HJB. 45. 2370 | ILDL45.2370 | HIN.45.2370 | 9600 | 2146 |180| 2520 | 2220 | 48 | 32 | 2370 158| 22| 6 130 [ 18] +L.25 ] 2307. 3 146 | +0.35 [ 2065.6 [ 116 | 5199
HJW. 45. 2370A | HJN. 45. 2370A 221 +1.0 | 2704.4 | 119 | +0.35 | 2040.9 | 94
4B, 45. 2600 | IV-45.2600 | HIN. 45. 2600 | 9535 3365 | 180 2750 | 2450 | 54 | 36 | 2600 | 158 |22] 6 [ 130[ 18] L 25 [ 2041.7 [150 [ +0. 351 2263.5 [ 127 [ 54qg
HJW. 45. 2600A | HJN. 45. 2600A 22 | +1.0 ]2946.9 | 130 | +0. 35| 2260.8 | 104
HJW. 50. 2820A | HJN. 50. 2820A 25 +1.0 | 3198.4 | 124 | +0.35 | 2444.1 | 99
HJB. 50. 3120 HJW. 50. 3120 HJN. 50. 3120 | 3400 [ 2840(200(3310(2930| 54 | 36 [3120(178]22] 6 |150 22 |+1.25]3507.2 | 155 [+0. 35| 2722 125 | 4000
HJW.50. 3120A | HJN. 50. 3120A 25 | +1.2513509.6 | 136 | +0. 35| 2719 110
HJB. 50. 3580 |1V 50.3580 | HIN. 50.3580 | 39903240 |240| 3820|3340/ 60 | 40 [3580( 218 22| 6 [190| 22]+1.25]4036. 1] 179 [+0.35] 3118.4 [ 143 [ 670
HJW.50. 3580A [ HJN. 50. 3580A 25 |+1.25]4035.6| 157 | +0. 35| 3118.8 | 126
H1B. 50. 4030 | HiL%-50.4030 | HIN. 50. 4030 [4370 3690 |240] 4270 [3790| 66 | 40 |4030|218| 22| 6 |190| 22]+L.25[4520. 6 [ 201 [+0. 35[ 3558.3 | 163 | 770
HJW. 50. 4030A | HJN. 50. 4030A 28 | +1.25| 4522 | 157 |+0.35| 3549 | 128
HB. 50. 4540 |LLV-50.4540 [ HIN.50.4540 [ 4g60[ 4210 [240]4760(4310] 72 | 40 [4540]218]22] 6 [100[ 2] +1.25] 4083 [222 [+0.35] 4042.2 [ 185 [ g7
HJW.50.4540A | HJN. 50. 4540A 30 1 +1.2514992.9] 162 | +0. 35| 4042.4 | 136

H

=

WWER TEY



EARE &

1
il
)=

HS %51

AR S A ER (B3 SR (HS R 51D

Single row four point contact ball slewing bearing (HS series)

Ou

De Du

dn On n—g de

E]
i
-

| = - P —
N % | é / nl ”1\\*4 %‘% o L
1 NNy TINNTT NN
\ |
) \ &\ s\ — L; o] \/ 1
n'g dn n-¢ dn
ﬂL gL L [[;n
Tth AN 2]
Non Gear External Gear Internal Gear

ZiRRE R PREE. EHIVEHE
Y AR PSR AN BRI LR, SR ERR. MRS EIURIED m#Zfh, #t

[l 7R 21 s AR A AN k. R AEmL . EERIENL. /N ELE ENIZENLS TN
AT

Structural characteristics, performance and scope of application

The single-row four-point contact spherical slewing bearing is composed of two seat rings. It has compact structure,
light weight, and four-point contact between steel ball and arc raceway. It can bear axial force, radial force and
overturning moment at the same time. The construction machinery of rotary conveyor, welding manipulator, small and
medium-sized crane and excavator can be selected.

31



43

HEE S %%Rf ;:%%u% SR WS
Bearing type Boundary Mountm ole Structure Gear parameters
dimensions diameter dimensions -
JRE
% =Y Ak Mass
Tt AR Wik Df dnjH| Duj Dn i 1 DLjH]b Ext gear Int gear kg
Non-gear type External gear Internal gear n n m De e
type type mm mm mm mm mm X mm Z X mm Z
HSB. 25. 625 HSW. 25. 625 HSN. 25. 625 795 | 595 180 | 685 | 565 [18] 181 3 | 625 | 12 | 60 5 | +1.25] 751.9 | 146 +0.35] 498.8 [101 100
HSW. 25. 625A HSN. 25. 625A 6 | +1.00 ] 755.5 [122]+0.35] 496.7 84
HSB. 25. 790 HSW. 25. 720 HSN. 25. 720 820 | 620 180 | 780 | 660 |18l 18| 3 | 720 | 12 | 60 6 | +1.25 | 860.3 | 139 ]|+0.35| 586.6 99 120
HSW. 25. 720A HSN. 25. 720A 8 | +0.85 ] 861.1 | 104 ]+0.35] 582.3 74
HSB. 30. 820 HSW. 30. 820 HSN. 30. 820 940 | 705 1 95| 893 | 749 1241201 4 | 820 | 12 | 70 6 | +1.25 ] 980.4 |159]+0.35| 664.5 |[112 210
HSW. 30. 820A HSN. 30. 820A 10 | +0.85 | 986.2 | 95 | +0.35 658 67
: : HSW. 30(32). 880A | HSN. 30(32). 880A 10 | +0.85 | 1046.3 | 101 [+0.35[ 707.9 | 72
HSB. 30(32). 1020 |—iok-30 (32).1020 | HSN.30(32).1020 f1170 | 75 | 95 | 1120 930 |24 | 22| 4 | 1020 | 15 | 70 [ .81 +1.25] 1219.3 | 148 [+0.35] 830.1 | 105 49y
: : HSW. 30(32). 1020A | HSN. 30(32). 1020A 10 [ +1.00 | 1219.2 | 118 [+0.35| 827.8 84
HSW. 30(40). 1220A | HSN. 30(40). 1220A 12 | +0.85 | 1435.9 | 116 | +0.35| 1017.3 | 86
HSW. 35(40). 1250A | HSN. 35(40). 1250A 12 | +0.85 | 1449.6 | 117 | +0.35]| 1028.8 | 87
HSB. 35 (40) . 1435 HSW. 35(40). 1435 HSN. 35(40). 1435 1595 11978 11201 1535 | 1335 136 | 26 | 6 | 1435 | 15 | 90 12 | +1.0 | 1655.5 | 134 [ +0.35 | 1221.1 | 103 610
HSW. 35(40). 1435A | HSN. 35(40). 1435A 14 |1 +0.85 | 1661.2 | 115 | +0.35| 1214.8 | 88
HSB. 35 (50). 1540 HSW. 35 (50) . 1540 HSN. 35 (50). 1540 1720 | 1360 11401 1660 | 1420 42| 26 | 6 | 1540 | 18 | 110 12 [ +1.4 | 1780.8 | 144 [+0.35| 1293.1 | 109 739
HSW. 35(50). 1540A | HSN. 35(50). 1540A 14 [ +1.0 | 1791.1 | 124 [ +0.35| 1284.8 | 93
HSB. 35(50). 1700 [5°35 (50) . 1700A_| HSN. 35 (50).. 17004 16 | +1.0 | 1950.8 | 118 | +0.35] 1452.3 | 92
HSB. 40 (50) . 1880 HSW. 40 (50) . 1880 HSN. 40 (50) . 1880 2100 | 1665 11601 2030 | 1740 [ 48| 32| ¢ | 1880 | 20 | 115 14 | +1.25 | 2189.8 | 152 | +0.35| 1592.6 | 115 1400
HSW. 40 (50). 1880A | HSN. 40(50). 1880A 18] +1.0 | 2194.6 | 118 | +0.35]| 1579.9 | 89
HSB. 40 (50) . 2115 HSW. 40(50). 2115 HSN. 40 (50). 2115 2395 11900 | 1601 2245 | 1980 | 48| 32 | 6 | 2115 | 20 | 115 16 | +1.25 | 2406.5 | 146 | +0.35| 1804.1 | 114 1600
HSW. 40 (50). 2115A | HSN. 40(50). 2115A 20| +1.0 | 2418.4 | 117 | +0.35| 1795.4 | 91
HSW. 40(60). 2370 | HSN. 40(60).2370 | 9600 | 9146|1801 2520 | 2220 |48 | 32| 6 | 2370 | 22 | 1301181 +1.25 | 2307.3 | 146 | +0.35] 2065.6 | 116 | 909
HSB. 40 (60). 2370 | HSW. 40(60).2370A | HSN. 40 (60). 2370A 22| +1.0 | 2704.4 | 119 | +0.35| 2040.9 | 94
: : HSW. 40 (60). 2600A | HSN. 40 (60). 2600A 22| +1.0 | 2946.9 | 130 [ +0.35 | 2260.8 | 104
: : HSW. 50 (60). 2820A | HSN. 50 (60). 2820A 25| +1.0 | 3198.4 ] 124 | +0.35] 2444.1 | 99
HSW. 50(60). 3120A | HSN. 50(60). 3120A 25 | +1.25 | 3509.6 | 136 [ +0.35 | 2719 110
HSB. 50 (60) . 3580 HSW. 50 (60) . 3580 HSN. 50 (60) . 3580 3920 | 3240 [2401 3820 1 3340 [ 60| 40 | 6 | 3580 | 22 | 190 22 | +1.25] 4036.1 | 179 | +0.35| 3118.4 |[143 6700
HSW. 50 (60) . 3580A | HSN. 50 (60). 3580A 25 | +1.25 | 4035.6 | 157 | +0.35| 3118.8 [ 126
HSW. 50 (60). 4030A | HSN. 50 (60). 4030A 28 | +1.25 | 4522 | 157 [+0.35 | 3549 128
HSB. 50 (60) . 4540 HSW. 50 (60) . 4540 HSN. 50 (60) . 4540 4860 | 4210 12401 4760 | 4310 | 72| 40 | 6 | 4540 | 22 | 190 22 | +1.25 | 4983 | 222 | +0.35| 4042.2 |[185 8760
HSW. 50 (60). 4540A | HSN. 50 (60) . 4540A 30 | +1.25] 4992.9 | 162 | +0.35| 4042.4 [136

H

=

&Y

M 2R



0

EARE HEEMFR ™

g

B 7 X ARB MR 5 =

Types and series three of slewing bearings

(JB/T10839-2008) ik [ml % S 7K g 5 T3 7% -
JB/T10839-2008 standard slewing bearing numbering method

Q W A 1250 32 A G

HIER
FERE SRy ARG General level
Classification of precision

de P G| BEX
gra Precision level

AN %A

TSE AN G Y AW L] Small module

Gear modulus classification code FAE R

A Large module

| BHNAEEZ mm  Rolling body diameter mm |

|7 WIEHF.OEAE mm Raceway center diameter mm |

ERERILIAR S T z1clo
Code number of mounting and connection hole type
ik fesh RS W 4k NA i ULtk
Code for gear transmission type External gear Internal gear No gear
SRR Q: HHEEk I R S: =HRRMER
The type of slewing bearing Single-row ball type Crossed rollers type Three-row roller type

B 1. Tt (QU) RISMERS A FRE O BRI WD A5ME K dn Ak, HiE%E 5MfLAm BAESME L

Explanation: 1. The dimensions of the No gear (QU) series are composed of Internal gear D and External gear dn with the same raceway
center diameter, and The plug position and oil holes are arranged on the outer ring.

2. EEEAAANS

Mounting and connection hole type code

A: . SNERERGIL

Inner and outer rings are unthreaded holes.

B: . S EREEENIRLIL, REAT (REFIBLT fIEL S~

The base of the inner and outer rings are threaded holes with a depth of T (the mounting hole thread T can be at the other end of the
hole).

C: SMERAEEIBLIL, RENT, NEEGIL (ZRFIRLT AIESLK 5 —im)

The base of outer rings is threaded holes with a depth of T, the inner ring is the unthreaded hole (the mounting hole thread T can be at the
other end of the hole).

D: WERAEMEIRLIL, RENT, BB (ZEFIRLT AIELK S —im)

The base of inner ring is threaded holes with a depth of T, the outer rings is the unthreaded hole (the mounting hole thread T can be at the
other end of the hole).

3. AMAR QW) M. AR QD gEREER QU EWEIT:

The External gear type (QW) structure diagram, the Internal gear type (QN) structure diagram and the No gear (QU ) structure diagram
are as follows:

33



EALE HEMR

Q %51

FAHEDT Bk [EI 52 3K (Q AR5

Single row four point contact ball slewing bearing (Q series)

Du De

Dn ."._.2.

7 = < B %% |
A4 R % o éﬁz’é”‘ mi 7 1°
NNy LN
I o &1 @ 9] 4
. oL T | Dn

Ttk b ik 2]

Non Gear External Gear Internal Gear

ZEtFRr R TRERE. ERVEE

FHE DY 5 P AR 5 1 B SR el T JE P LK, S5 40 K 5, B ER, BBk S IR IR Y e e, e (7] b
FREZHI 77, A2 17 71 A 036, B8 sURE L, 8 S8BT, T/ R U2 SRS TREAUES AT ik
H.

Structural characteristics, performance and scope of application

The single row four point contact ball slewing bearing is composed of two seat rings,which design in compact

structure and light weight,steel ball contact with the circular raceway at four point,it can bear the axial force, radial force
and the tilting moment at the same time.It can be used for slewing conveyer,welding manipulator, light & ledium duty

crane,excavator and other construction machinery.

- 34



GE

%e?r%n? Bound aé;l\ ﬂ:ﬁdﬁﬂ‘ . ?C%H‘R# . S%r*l/?c)?u?_e WS
e y dimensions Mounting hole diameter E e Pt Gear parameters
Ezl‘gggﬁl Inqc\]e%\:nj;tl Smé%r}e% Externgfﬁeiatr type Internﬁﬁfgr type
QW,%EI;,UQU gear type | gear type B,hg,lIe)sgg i 5g b x:+0.85 P
QW:E)N, QU H | Du Dn n nlb
series | D | dn | D | d di | p pe |z |PE | q |z |BE
mm mm mm mm mm mm kg mm kg
2805 360 | 198 | 360 | 200 |60 | 328 | 232 | 10 Mi4 | 28 10 |44 22— 202 10,28 178.5 02 27
33115§.ll6i 395 | 233 | 397 | 235 |60 | 363 | 267 | 12 M14 | 28 10 |44 3;15 4?1;;15 igg gi 2;?'25 2421 g}
335555..116?{ 435 | 273 | 437 | 275 |60 | 403 | 307 | 12 M14 | 28 10 44 3;15 422'05 i?é 2; ;g; Zi gi
440000..11661\ 480 | 318 | 482 | 320 |60 | 448 | 352 | 12 M14 | 28 10 |44 3;15 ggi 14212 ig 22;65 ?g ig
445500..116?{ 530 | 368 | 532 | 370 |60 | 498 | 402 | 12 M14 | 28 10 44 3;15 ggg 12; g; 332;15 18070 g(l)
:5500.'220(2 544 | 354 | 546 | 354 [ 70| 508 | 392 | 12 M16 | 30 10 | 50 g g;(z) izllg 22 2;2 32 2;
550000.'220% 594 | 404 | 596 | 404 |70 | 558 | 442 | 14 M16 | 30 10 |50 ;l ggg }gi ;i g;g ?2 ;8
556600.'2200A 654 | 464 | 656 | 468 | 70 | 618 | 502 | 14 M16 | 30 10 | 50 g 22(5) igg ;g igg 18181 ;,?
663309'220?4 724 | 534 | 726 | 538 [ 70| 688 | 572 | 16 M16 | 30 10 | 50 g ’;gg }gg Sg g(l)g igg Sg
77110(?'220% 804 | 614 | 806 | 618 [ 70| 768 | 652 | 18 M16 | 30 10 | 50 (53 22(5) igg 19091 ggg 19188 g;
880000..2200A 894 | 704 | 896 | 708 | 70| 858 | 742 | 20 M16 | 30 10 |50 g ggg }?g }}i 22421 18143 11(1)
663300..2255A 734 | 522 | 738 | 522 | 78| 694 | 566 | 16 M20 | 36 10 | 58 2 ;;Z 122 Hi igg Zg 18;
77110?'225i 814 | 602 | 818 | 602 | 78| 774 | 646 | 18 M20 | 36 10 |58 g Sgi ig? ig; ggg ?? i;g
880000"2255;& 904 | 692 | 908 | 694 |78 | 864 | 736 | 18 M20 | 36 10 |58 g ggg 1?2 iig 22;1 18120 1:;
990000.'2255;\ 1004 | 792 |1008| 794 |78 | 964 | 836 | 20 M20 | 36 10 |58 180 }82(8) }gg }22 ;ig ?g 122
1100000(?.2255A 1104 | 892 |1108| 894 | 78 |1064| 936 | 24 M20 | 36 10 |58 180 } 12(2) Yllg }gg gig 18057 1;2
1111220(?'2255}_\ 1124 | 1012 | 1228|1014 |78 | 1184 1056 | 28 M20 | 36 10 |58 180 };gg }g? ;}g ggg 19272 ;gz

}

[E]

Z¥ HEFY

X




9¢

%effrgign?I B SPRRT ZRALRAT S%rﬁjc}tau?-e WS
type oundary dimensions Mounting hole diameter Nimenahlong Gear parameters
A Eﬁgigl Inl?e?n%atl Th;%oiiltgh Ei?{}g[;;’ /£ ;Li: ‘ Externzz%7 f %eiatr type Internrﬁ ﬁgg:gr type
QW% d{“ SU gear type | gear type A I A%Y | B,C, D! I;I‘Emliﬂl" ol N'[“O é%%ts x=—0. 5 x=+0. 5
series | p dn | D | d & |d1| T | holes De | Z ﬁﬁﬁ de | z ﬁ%
mm mm mm mm mm mm kg mm kg
880000"3321 920 | 676 | 924 | 680 | 90 | 874 | 726 | 18 24 M22 | 40 2 10| 70 180 g;g 19271 ;i ; ggg 22 }gg
99000?'3321 1020 | 776 | 1024 | 780 | 90 | 974 | 826 | 20 24 M22 | 40 2 10| 70 180 }ggg }g? ;gg ;;8 3; g;?
11000000.'3321 1120 | 876 | 1124 880 | 90 | 1074 | 926 | 24 24 M22 | 40 2 10| 70 180 ﬂgg hlg ;g; 23(2) 18045 ggg
111122(2'3322/\ 1240 | 996 | 1244 | 1000 | 90 | 1194 | 1046 | 28 24 M22 | 40 4 10| 70 ig iggg }gg g;g ggg 32 ggg
1122550(?'3322/\ 1370 | 1126 | 1374 | 1130 | 90 | 1324 | 1176 | 32 24 M22 | 40 4 10| 70 }g iiig ﬁlg gg; }ggg 19008 ggé
1144000(?'3321 1520 | 1276 | 1524 | 1280 | 90 | 1474 | 1326 | 36 24 M22 | 40 4 10| 70 }421 iggg ﬁ’é SZ; i;éi 18072 ggg
99000(?' 4400A 1040 | 758 | 1044 | 760 | 102 | 986 | 814 | 20 26 M24 | 45 4 12| 80 ig Hgg 19019 ggg (7582 gé ggg
11000009' 440(2 1140 | 858 | 1144 | 860 | 102 | 1086 | 914 | 24 26 M24 | 45 4 12| 80 }(2) };?g }(l)g gi? ggg 2; 23411
11112200"440(2 1260 | 978 | 1264 | 980 | 102 | 1206 | 1034 |282 26 M24 | 45 4 12| 80 1(2) 12:23(2) }:1”(1) g;g g?g gg ggg
1122550(?' 440% 1390 | 1108 | 1394 | 1110 | 102 | 1336 | 1164 | 32 26 M24 | 45 4 12| 80 1(2) iigg igg ggg }gig 18086 ggg
1113000?.1;10% 1540 | 1258 | 1544 | 1260 | 102 | 1486 | 1314 | 36 26 M24 | 45 4 12| 80 }i ig(l)g }i’i iig i }gg 18060 igi
11660009'440(2 1740 | 1458 | 1744 | 1460 | 102 | 1686 | 1514 | 40 26 M24 | 45 4 12| 80 }421 }g;g }gg 25481 1322 }(1)(7) g(l)?
1188000(?'4401 1940 | 1658 | 1944 | 1660 | 102 | 1886 | 1714 | 44 26 M24 | 45 4 12| 80 }g ;8;2 }gg ggg }gg; 19194 g;?
22000000.'440% 2140 | 1858 | 2144 | 1960 | 102 [ 2086 | 1914 | 48 26 M24 | 45 4 12| 80 ig gggi igg ;;;L };Zg ﬁg 2;2
11225500.'550% 1412 | 1084 | 1416 | 1088 | 124 | 1354 | 1146 | 32 30 M27 | 50 4 12 | 100 }i ii;i igg ggg 1882 ?g g?;
1144000(?'550(3& 1562 | 1234 | 1566 | 1238 | 124 | 1504 | 1296 | 36 30 M27 | 50 4 12 | 100 ii iggg 1:132 g?g ﬁg; 2481 gig
11660000"550% 1762 | 1434 | 1766 | 1438 | 124 | 1704 | 1496 | 40 30 M27 | 50 4 121 100 }i iggi ig(l) ;;g }ggg 19185 :{{ég

H,

=)

&Y

LIRS A



LE

= s 4t 5
firche it SR SRR Rl AR vt 2K
type Boundary dimensions Mounting hole diameter Rt e Gear parameters
BFL BEFL VNS Wi
Ezl{ﬁﬁ1 In@e%n:ztl Through| Screw (Egjlﬂi External gear type |[Internal gear type
QW, QN, QU | gear type | gear type h°1ue hOIes. e m %
51| A%l | B,C, D&Y — -
R H Du Dn n Number hil b Modulus x=0.5 x=+0. 5
Q!é??égU of oil
D | dn| D | 4 ¢ | di| g [holes pe |z | BE | g |z | RE
Mass Mass
mm mm mm mm mm mm kg mm kg
1800. 50 14 2044 | 145 845 1568 | 113 794
1800. 50A 1962 | 1634 | 1966 | 1638 | 124 | 1904 | 1696 | 44 30 M27 | 50 4 12 ] 100 16 2048 | 127 843 1552 8 318
2000. 50 16 2240 | 139 912 1760 | 111 891
2000 50A 2162 | 1834 | 2166 | 1842 | 124 | 2104 | 1896 | 48 30 M27 | 50 6 12 | 100 18 2950 | 124 927 1746 98 913
2240. 50 16 2480 | 154 | 1020 1984 | 125 | 1044
2940 507 2402 | 2074 | 2406 | 2078 | 124 | 2344 | 2136 | 54 30 M27 | 50 6 12 ] 100 18 2502 | 138 1078 1980 | 111 | 1041
2500. 50 18 2754 | 152 1171 2250 | 126 | 1132
2500. 508 2662 | 2334 | 2666 | 2342 | 124 | 2604 | 2396 | 60 30 M27 | 50 6 12 | 100 20 5760 1137 1 1175 9940 1 113 | 1148
2800. 50 18 3060 | 169 | 1393 2538 | 142 | 1361
2800. 50 2962 | 2634 | 2966 | 2638 | 124 | 2904 | 2696 | 66 30 M27 | 50 6 12 | 100 20 2060 1 152 | 1382 9540 | 128 | 1344
3150. 50 18 3402 | 188 | 1535 2898 | 162 | 1501
3150, 50A 3312 | 2984 | 3316 | 2988 | 124 | 3254 | 3046 | 72 30 M27 | 50 6 12 | 100 20 3420 1170 | 1597 2880 | 145 | 1554
2000. 60 18 2304 | 127 1431 1710 96 1344
2000. 60A 2196 | 1804 | 2196 | 1808 | 150 | 2126 | 1874 | 48 33 M30 | 56 6 141122 20 9320 | 1151 1476 1700 86 1361
2240. 60 18 2538 | 140 | 1576 1944 | 109 | 1526
2940. 60A 2436 | 2044 | 2436 | 2048 | 150 | 2366 | 2114 | 54 33 M30 | 56 6 14 1122 20 0540 | 126 | 1572 1940 98 1527
2500. 60 18 2790 [ 154 | 1677 2214 | 124 | 1621
9500, 60A 2696 | 2304 | 2696 | 2308 | 150 | 2626 | 2374 | 60 33 M30 | 56 6 14 1122 20 2800 | 139 1701 2900 1111 | 1654
2800. 60 18 3078 | 170 | 1817 2502 | 140 | 1871
2800. 60A 2992 | 2604 | 2996 | 2608 | 150 | 2926 | 2674 | 66 33 M30 | 56 6 14 | 122 20 3100 1154 | 1904 2500 | 126 | 1857
3150. 60 20 3440 [ 171 | 2087 2840 | 143 | 2144
3150, 6OA 3342 | 2954 | 3346 | 2958 | 150 | 3276 | 3024 | 72 33 M30 | 56 6 14 1122 29 3454 | 156 | 2139 2838 1130 | 2129
3550. 60 20 3840 | 191 | 2355 3240 | 163 | 2425
3550, 60A 3742 | 2354 | 3746 | 3358 | 150 | 3676 | 3424 | 78 33 M30 | 56 6 14 | 122 25 3875 | 154 | 2500 3925 1130 | 2437
4000. 60 22 4312 [ 195 | 2787 3696 | 169 | 2683
2000, 60A 4200 | 3804 | 4196 | 3808 | 150 | 4126 | 3874 | 80 33 M30 | 56 6 141122 25 4325 1172 | 2827 2675 | 148 | 2763
4500. 60 25 4825 [ 192 | 3268 4175 | 168 | 3247
4500. 60A 4700 | 4304 | 3316 | 2988 | 150 | 4626 | 4374 | 86 33 M30 | 56 6 14 | 122 28 4816 1172 | 3372 4172 | 150 | 3334

H

2 REYE

B



WEATE EEMR

[B] 5% SZ A SRR R 51 1Y

Types and series four of slewing bearings
ARG IR R E R inde AR S i, HiTERS, BARSHEERSHR

This designation method follows the previous China national bearing standard.It consists of prefix
code.basic code and suffix code.

1. ATERS:

(1% S ARKE E S5y N G, E, D =2, —RREBR G 7T LAARKRIE.

1.Prefix Code

The precision grade of slewing bearing has three grades:Grade G,Grade E, Grade D,Grade G is generally the standard
specification and not normally shown.

2. EARKS:
EARSHCA MR A FHR, HARENBEXN TR
2.Basic Code
The basic code consists of 7 numbers,the explanation for these numbers are referred to in the table below
3 ~filExamples
AN d - AAEE A Cam)
Inner diameterd (mm) LR e Bearing type Inner diameter (mm)
L. AEEREASZ R iR 79764 320
Expressed by the quotient of dividing inner diameter by 5. B
2. AEN/NERE AR S BIRE, FAaHEER, SREERSNAERY 797/496 496
<500 ‘When the inner diameter is decimal or could not be divided exactly by 5,it will
be 'express.ed by a fraction,and the denominator directly indicates the dimension 797/488. 5 488.5
of inner diameter
R 8FEr BEERRARRT
= 500 Expressed by fraction,and the denominator directly indicates the dimension of 797/800 800
inner diameter

3. FEMRS: BHITKHEMNEERS LK

3. Suffix Code: Common suffix codes used in slewing bearing designations are shown in the table below

7 L
% Code Definition
Hrh GRREB M ELN5CrMnMo :
G. G2 In which:G indicates the material of bearing ring is SCrMnMo:
RS o G2R/NE BB A50Mn:  FEAE B 2 B 4L 420 Mo
G2 indicates the material of bearing rings is 50Mn:the material of bearing ring is 42CrMo, when there is no code.
HiREH SMES A EZR
K, K1, K2... Bean'?lng structure (ﬁggrs from the standard structure.
" BB EER
Requirement for friction moment
YLz SR ARA R
o T Changes in bearing technique
ZNE E (0) 17 9 2 885 G2 K

ARG SRS A Z 57

Bearing structure differs from the standard structure.

ML, EREMES0Mn:

Material, IR and OR manufactured from 50Mn

WAL, B2 | 7K N E: 885mm  Inner diameter: 885mm

Precision grade .Grade E.

‘ H#%#A%, 28&%|] Diameter series ,series 2.

ERERF, 0RF], 0K ‘ KA, 9K Type, category9.

| Width series, series 0.0 (could be omitted)

SR, AR R TR

Structural design ,cross cylindrical roller bearing with external gear.

— 38



6¢

AR SGRAE B SR (197 R 51D

Single row cross roller slewing bearing (797 series)

D1

n2-g2 . do
_L = —
—| = nd %\ %\/
N AN :
N
nl-¢1 d
1 D2
D3
D
5
Internal Gear
R AT SRR R s
Bearing type e o Mounting hole diameter Structure dimensions Gear parameters
&
Pk R D d | H| D1 | D2 o1 ®2| p3 | g1 | Hi| n o3 | ol & |z P ] x [YosS
Internal gear nl| n2| gy | mm n3 kg
type — mm mm | mm mm mm mm mm
2797/76062 1000 760 95 | 956 | 800 | 24 [ 24| 20 | 20 | 878 | 882 | 82 | 15| 4 M10X1 8 718 91 70 | 0.35 206
2797/870G2 1180 870 | 115 | 1125 | 920 | 18 [ 18 | 26 | 26 | 1023 | 1027 | 100 | 15 | 2 M8x1 8 828.8 [ 105 | 90 0.3 374
2797/875G2 1170 875 95 | 1120 | 930 | 24 [ 24 | 22 | 22 | 1018 [ 1022 | 82 [ 10| 4 M10X1 8 830 105 | 70 | 0.35 297
2797/955G2 1200 955 90 | 1160 | 1000 | 36 | 18 | 18 18 | 1088 | 1092 | 76 | 10| 4 M8x1 8 908 115 | 72 0.3 245
2797/1010G2 1200 | 1010 | 90 | 1160 | 1041 | 36 | 20 | 22 | M20 | 1088 | 1092 | 76 | 10 | 2 M8x1 10 962 97 72 0.6 199
2797/1010GK 1200 | 1010 | 90 | 1160 | 1041 | 36 | 20 | 22 | M20 | 1088 | 1092 | 76 | 10 | 2 M8x1 10 962 97 72 0.6 199
1278/2797G2 1595 | 1278 | 120 | 1535 | 1335 | 36 | 36 | 26 | 26 | 1428 | 1432 | 106 | 14| 6 M10X1 12 1221 103 ] 90 | 0.35 585
2797/1400G2K 1715 | 1400 | 110 | 1660 | 1460 | 40 | 40 | 26 | M24 | 1558 | 1562 | 95 | 16 | 4 M10X1 10 1330 135 | 90 0 587
2797/2000G2 2420 200 | 160 | 2350 | 2070 | 48 | 48 | 33 | M30 | 2207 | 2213 | 140|120 | 6 M10X1 14 1913 138 | 120 | 0.3 1607
2797/2240G 2670 | 2240 | 160 | 2600 | 2320 | 54 | 54 | 35 | M36 | 2457 | 2463 | 140 [ 20 | 6 |[M12X1.25| 16 | 2154.5 | 136 | 120 | 0.3 1798
3-940G 2800 | 2300 | 208 | 2710 | 2390 | 42 | 48 | 38 | M36 | 25635 | 25645 | 180 | 18 | 6 M10X1 20 | 2162.75 | 110 | 175 0 2756
2797/2680G 3325 | 2680 | 300 | 3242 | 2754 | 32 | 32 | 33 33 12996 | 3000 | 270 | 30 | 4 | MI6X1.5 | 16 2592 164 | 180 0 6320
2797/2680GY 3325 | 2680 | 300 | 3242 | 2754 | 48 | 48 | 33 | 33 | 2996 | 3000 | 270 | 30 | 4 | M16X1.5 | 16 2592 164 | 180 0 6320
2797/2680GK 3325 | 2680 | 300 | 3242 2754 | 32 | 32 | 33 | 33 | 2996 | 3000 | 270 | 30 | 4 | MI6X1.5 | 16 2592 164 | 180 0 6641
3-943G2 3850 | 3322 | 200 | 3720 | 3420 | 60 | 60 | 45 | 45 | 3568 | 3572 | 180 | 20 | 12 | Z1/4in 22 3206 147 | 158 | 0.35 | 4520

4% 1.6/,

H

)

HEY

M 2 R



0)%

Da
D1
03
02

— "TZ ||
=| - o = ”
7 |
r in2-02____ d “
dl
D
VAN

External Gear

B RAL S pRT IR SR RS
Bearing type K (e Mounting hole diameter Structure dimensions Gear parameters
&
A D d | H| p1| D2 o1 ®2| p3l g1 | mi| n o3 | ol D2 | g [P | x [YosS
External gear nl| n2| gy | mm n3 kg
type mm mm mm | mm mm mm mm mm
1792/885 1056 885 83 | 1032 | 925 | 16 | 16 | M16 [17.5] 986 | 988 | 75 | 12.5 8 1096 135 162.5 0 172
E1792/885 1056 885 83 | 1032 | 925 | 16 | 16 | M16 [17.5] 986 | 988 | 75 | 12.5 8 1096 135 |62.5 0 172
E1792/885K 1056 885 83 | 1032 | 925 | 16 | 16 | MI16 |17.5] 986 | 988 | 75 | 12.5 M10X1 8 1096 135 [62.5 0 172
1797/885G 1150 885 | 115 1115 | 935 | 16 | 16 | 18 18 | 1023 | 1027 | 100 | 15 M8x1 B 1180 234 | 80 0 330
1797/1100G 1415 | 1100 | 115] 1345|1160 | 24 | 18 | 21 21 | 1253 | 1255 | 100 | 15 M12X1.25( 6 1452 240 | 84 0 497

1798/1100G2 1400 | 1100 | 140 ] 1352 | 1160 | 26 | 26 | 24 | 26 | 1260 | 1264 | 126 | 21 M10X1 14 | 1477.28 | 104 | 90 [-0.24| 642

1798/1100G2K 1400 | 1100 | 145 | 1352 [ 1160 | 26 | 26 | 24 | 26 | 1260 | 1264 | 131 | 26 M10X1 14 | 1477.28 | 104 | 90 [-0.24| 644

1797/125062 1548 | 1250 | 148 | 1512 | 1297 | 16 | 16 | 25 | 25 | 1403 | 1407 | 122 [ 20 M10X1 12 1608 132 | 100 0 661

1797/1278G2 1595 | 1278 [ 120 | 1535 | 1335 | 36 | 36 | 26 | 26 | 1428 | 1432 [ 105 | 15 M10X1 12 | 1655.46 | 134 | 90 [ 1.15 | 597

1797/1300G2 1705 | 1300 | 165 | 1644 | 1360 | 24 | 24 | 32 | 32 | 1504 | 1508 | 134 | 31 M10X1 14 | 1783.6 | 126 | 85 | -0.3 | 1023

1792/1400G 1715 | 1400 | 110 ] 1660 | 1460 | 42 | 42 | 26 | 26 | 1558 | 1562 | 95 17 M12X1.25| 12 | 1780.8 | 147 | 78 | -0.3 | 597

1792/1400G2 1715 | 1400 | 110 | 1660 | 1460 [ 42 | 42 | 26 | 26 | 1558 | 1562 | 95 | 17 M12X1.25| 12 | 1881.6 | 147 [ 78 | 0.3 | 597

G (NG IFNQ (VG (VNG (Y (NG I (S (S 90

1792/1400G2K 1715 | 1400 | 110 ] 1660 | 1460 | 42 | 42 | 26 | 26 | 1558 | 1562 | 95 | 17 M12X1.25| 12 | 1780.8 | 147 | 78 | -0.3 | 597

|

[E]

&Y

M 2 L




A%

SRS AGNR) SRR BRRS Bt s
Bearing type eI Mounting hole diameter Structure dimensions Gear parameters

e
VNN o1 2 Da b Mass

External gear D d H D1 D2 nl| n2| gy | mm D3 dl | HI h n3 63 m /4 X kg

type
mm mm mm | mm mm mm mm mm

1797/1460G2 1800 | 1460 | 125 | 1735 [ 1525 | 32 | 36 | 26 | 26 | 1633 | 1637 | 110 | 10 4 M10X1 14 | 1881.6 | 133 | 95 | 0.3 828
1797/1460G2K 1460 | 125 | 1735 | 1525 | 32 | 36 | 26 | 26 | 1633 | 1637 | 110 | 10 4 M10X1 10 1880 186 | 115 0 845
1797/1916G2 1916 | 150 | 2245 | 1980 | 42 | 42 | 34 | 34 | 2113 | 2117 | 130 | 15 3 M10X1 18 | 2415.6 | 133 | 135 | 0.4 | 1597
1797/2100G2 2600 | 2100 | 180 | 2540 | 2200 | 48 | 48 | 32 32 | 2368 | 2372 | 158 | 22 8 M10X1 18 2700 148 | 130 0 2395
1797/2100G2K 2600 | 2100 | 180 | 2540 | 2200 | 48 | 48 | 32 32 | 2368 | 2372 | 158 | 22 8 M10X1 18 2700 148 | 130 0 2392
1797/2460G2 2460 | 220 [ 2930 | 2560 | 30 | 30 | 33 34 | 2785 185 | 20 | 30 |M12X1.25| 14 3108 220 | 200 0 4091
1797/2460G2U 2460 | 220 [ 2930 | 2560 | 30 | 30 | 33 | 34 | 2745 | 2747 | 185 | 20 | 30 |M12X1.25| 14 3108 220 | 200 0 4091
1797/2460G2K 2460 | 220 | 2930 | 2560 | 30 | 30 | 33 34 | 2875 185 | 35 15 | 2G1/4in | 14 3108 220 | 200 0 4091
1797/2460G2K1 2460 | 220 | 2930 | 2560 | 30 | 30 | 33 34 | 2875 185| 35 | 30| ZGl/4in | 14 3108 220 | 200 0 4091
1797/2500G2 2500 | 210 | 2990 | 2630 | 36 | 36 | 37 37 | 2818 | 2822 | 200 | 10 12 | M14X1.5 | 25 3250 128 | 200 0 4597
1797/2500K 2920 | 2500 | 260 | 3060 | 2622 | 36 | 36 | 40 | 40 | 2949 | 2916 | 240 | 60 | 36 | ZG1/4in | 18 3258 179 | 190 0 5407
1797/2500G2K1 2920 | 2500 | 260 | 3060 | 2622 | 36 | 36 | 40 | 40 | 2949 | 2916 | 240 | 60 | 36 | ZG1/4in | 18 3258 179 | 190 0 5407
1797/2600G 2600 | 200 | 3050 | 2700 | 60 | 60 | 35 35 | 2868 | 2872 | 180 | 20 6 |M12X1.25] 20 | 3232.8 | 160 | 180 |-0. 18| 3936
1797/2600G2 2600 | 200 | 3050 | 2700 | 60 | 60 | 35 35 | 2868 | 2872 | 180 | 20 6 | ZG1/4in | 20 | 3232.8 | 160 | 180 |-0.18| 3936
1797/2600G2K 2600 | 200 [ 3050 | 2700 | 60 | 60 | 35 | 35 | 2868 | 2872 | 180 | 20 4 14 20 | 3232.8 | 160 | 180 | -0. 18| 3936
1797/2600G2K1 2600 | 200 [ 3050 | 2700 | 60 | 60 | 35 35 | 2868 | 2872 | 180 | 20 8 M10X1 20 | 3232.8 | 160 | 180 | -0. 18| 3936
1797/2635G 3332 | 2635 | 270 | 3240 | 2755 | 36 | 36 | 42 | 42 | 2998 | 3002 | 240 | 45 6 |MI12X1.25| 20 3440 170 | 200 0 5937
1797/2635G 3332 | 2635 | 270 | 3240 | 2755 | 36 | 36 | 42 | 42 | 2998 | 3002 | 225 | 30 12 | 2G1/4in 20 3440 170 | 200 0 5937
1797/3230G 3970 | 3230 | 240 | 3820 | 3350 | 52 | b4 | 37 | 37 | 3578 | 3582 | 220 | 20 9 |M12X1.25| 25 4100 162 | 200 0 7612
1797/3230GY 3970 | 3230 | 240 | 3820 | 3380 | 52 | 36 | 37 | 37 | 3578 | 35682 | 220 | 20 4 |M12X1.25| 25 4100 162 | 200 0 7612
1797/3230G2 3970 | 3230 | 240 | 3820 | 3350 | 52 | 54 | 37 37 | 3578 | 3582 | 220 | 20 9 |M12X1.25| 25 4100 162 | 200 0 7613
1797/3230G2K 3970 | 3230 | 240 | 3820 | 3350 | 52 | 54 | 37 37 | 3578 | 3582 | 220 | 20 8 14 25 4100 162 | 200 0 7613
1797/3230G2K2 3970 | 3230 | 240 | 3820 | 3350 | 52 | 54 | 37 37 | 3578 | 3582 | 220 | 20 18 | M12X1. 25| 22 4092 184 | 200 0 7804
1797/3230G2K3 3940 | 3230 | 240 | 3820 | 3350 | 52 | b4 | 37 | 37 | 3578 | 35682 | 220 | 20 9 |MI12X1.25| 20 4080 202 | 200 0 7302
1797/3230G2Y 3970 | 3230 | 240 | 3820 3380 | 52 | 36 | 37 | 37 | 3578 | 3582 | 220 | 20 4 |M12X1.25| 25 4100 162 | 200 0 7613
1797/3230G2Y2 3970 | 3230 | 240 | 3820 | 3380 | 52 | 36 | 37 37 | 3578 | 3582 | 220 | 20 4 |M12X1.25| 25 4100 162 | 200 0 7613
1797/3230G2Y3 3230 | 240 | 3820 | 3380 | 52 | 36 | 37 37 | 3578 | 3582 | 220 | 20 4 | M14X1.5 | 25 4100 162 | 220 0 7686
1797/3230GK4 3970 | 3230 | 240 | 3820 | 3380 | 52 | 68 | 37 | 37 | 3578 | 3582 | 220 | 20 | 18 | M14X1.5 | 25 4100 162 | 200 0 7613
1797/3230GK5 3970 | 3230 | 240 | 3820 | 3350 | 52 | 54 | 37 | 37 | 3578 | 3582 | 220 | 20 4 |M12X1.25| 25 4100 162 | 200 0 7613
1797/3230G2Y3K 3230 | 240 | 3820 | 3380 | 52 | 36 | 37 37 13578 | 3582 | 220 | 20 4 |M12X1.25| 25 4100 162 | 220 0 7686
1797/3760G 4220 | 3760 | 240 | 4160 | 3840 | 48 | 48 | 32 32 | 3996 | 4004 | 210 | 55 4 | M14X1.5 | 14 4326 307 | 135 0 8246
1797/4250G 4940 | 4250 | 250 | 4840 | 4350 | 72 | 72 | 48 | 48 | 4598 | 4602 | 225 | 25 9 | M16X1.5 | 30 5082 168 | 200 | -0.3 | 8654

H

)

HEY

M 2R



HALE HEMR
D1
| d1
D2
d
nl-¢1
J:I
Non Gear | = ”3%% §‘%
n2-¢2 03
D
HRE R SR SR
Bearing type K[ Mounting hole diameter Structure dimensions -
TR Vs
N p—— D d H| pt| pz| |, &11 ®2| p3| g1 | HI| h b3 "
mm | mm n3 g
type
mm mm mm | mm mm mm
79764 550 320 85 515 | 365 12 8 17 18 438 442 75 | 10 | - = 85.6
797/600G2 900 600 125 | 848 | 690 30 [ 29| 26 | M24 | 750 754 | 105 15 | 3 M10X1 246
797/670 907 670 85 870 | 730 12 8 | M6 | 18 808 812 75 | 10 | — = 170
797/700G 1000 700 140 | 940 | 770 24 | 24 | M20 | 22 879 882 [130| 20 | 4 M10X1 370
797/845G2 1150 845 130 | 1100 | 895 24 | 24| 22 22 | 1024 | 1030 [ 105] 10 | 6 M6 393
797/870G 1180 870 115 | 1125 | 920 18 |18 | 28 | 28 | 1023 | 1027 [ 100 | 15 | 2 M8x1 B0
797/870K 1180 870 115 | 1125 | 920 18 | 18| 28 28 | 1023 | 1027 | 100 | 15 | 2 M10X1 355
797/87062K1 1180 870 115 | 1125 | 920 18 | 18 | 28 28 | 1023 | 1027 [ 100 | 15 | 2 M10X1 355
797/962G2 1200 962 90 = = = = = = 1088 | 1092 | 76 | 10 | — = 224
792/1000G2 1270 | 1000 | 100 | 1220 | 1050 | 36 | 36 | 19 19 | 1132 | 1138 | 85 | 15 | 4 M10X1 303
792/1000G2K | 1270 | 1000 | 100 | 1220 | 1050 | 36 | 36| 19 19 | 1132 | 1138 | 85 | 15| 3 9 303
792/1000G2K1 | 1270 | 1000 | 100 | 1220 | 1050 | 36 |36 | 19 19 | 1132 | 1138 | 85 | 15 | — = 303
792/1000G2K2 | 1270 | 1000 | 100 | 1220 [ 1050 | 36 | 36| 19 19 | 1132 | 1138 | 85 | 15 | - = 303
797/1060G2 1400 | 1060 | 120 = = 2 = = = 1248 | 1252 | 120 = = 596
797/1200G2 1520 | 1200 90 = = = = = = 1356 | 1364 | 90 = = = 504
792/1250G2 1700 | 1250 | 155 | 1650 | 1330 | 24 | 24 | 26 26 | 1446 | 1450 | 140 | 10 | 6 M10X1 1103
797/1250G2 1608 | 1250 | 148 | 1512 | 1297 | 16 | 16 | 25 25 | 1403 | 1047 | 128 | 26 | 4 M10X1 743
797/1250G2K | 1608 | 1250 | 148 | 1512 | 1297 | 16 | 16| 25 | 25 | 1403 | 1047 | 128 | 26 | 4 M10X1 717
797/1278G2K 1660 | 1278 120 | 1535 | 1335 | 18 | 18] 26 26 | 1428 | 1432 | 105 | 15 | 4 M10X1 589
797/1320G2 1715 | 1320 | 134 | 1337 | 1163 40 26 | 1503 | 1509 | - = = = 958
797/1370G 1840 | 1370 160 | 1770 | 1430 | 30 |24 | 28 28 | 1598 | 1602 | 140 | 10 | 4 M10X1 1213
797/1380G2 1700 | 1380 145 | 1650 | 1440 | 24 |24 | 27 27 | 1568 | 1574 [ 140 | 5 6 M10X1 746
3-944G2 1680 | 1412 170 = 1460 - 241 = 18 | 1544 | 1548 | 120 | 25 | 2 M10X1 725
3-944G2K 1680 | 1412 170 = 1460 240Mr= 18 | 1544 | 1548 | 120 | 25 | 2 M10X1 723
3-944G2K1 1680 | 1412 185 = 1460 = 24 | - 18 | 1544 | 1548 | 120 | 25 | 2 | M12X1.25| 759
797/1600G 2140 | 1600 | 145 | 1940 | 1710 | 48 |48 | 26 | 26 | 1828 | 1832 [ 135 | 10 | 4 M10X1 1357
797/1776G2 2210 | 1776 | 150 | 2105 | 1840 | 36 | 36| 26 26 | 1968 | 1972 | 135 | 15 | 4 M10X1 1244
797/1860G2 2320 | 1860 | 151 | 2245 | 1980 | 42 |42 | 33 | 33 | 2113 | 2117 [ 150 | 10 | 6 M10X1 1772
797/1916G2 | 2320 | 1916 150 | 2245 | 1980 | 42 | 42| 34 34 | 2113 | 2117 | 130 | 20 | 3 M10X1 1214
797/2190G 2860 | 2190 | 300 | 2800 | 2270 | 36 | 36 | 32 32 | 2530 | 2550 | 260 | 40 | 12 8 4797
797/2500G2 2980 | 2500 | 180 | 2910 | 2590 | 48 |48 | 33 | 33 | 2739 | 2743 | 170 | 10 | 6 | M16X1.5 | 2913
792/2800G 3310 | 2800 | 190 | 3220 | 2890 | 60 | 60| 39 39 | 3050 | 3060 | 165 | 25 | 2 M10X1 2864

)




EARE HEEMR ™

[B] % SO B 238 5 IRFF

Slewing Bearing Installation and Maintenance

—. BitE. a5iEkh

Anti-rust,packing,transportation

1) BigEMmaLE
Anti-rust & Packing

[BI# SN SMRIEIERA BRI PRI, AR IR BRI BRSO AE R g, kR A
SRHERR . MRS ES AR, ARHEREN, ATRERR M ELR.

Slewing bearing painted by anti-rust oil and lubrication inside&outside,packed by film,brown paper,plasticknit bag.If
have special demand,can personalized packing according to the demand

2) 8%

Transportation

TEIZ a0 3 (R AT BEAE ™ Sk ICE, RV MR B3h, Rogemt M. B AHAK
FaHdeny, BH=HRCLEMARBE W SIRERREIT BBCE, U840 R ¥ SR m. T8
¥)5, AmBBRIrEABSSER REAN, KPREARSEIZENE, PRREARARNKT
120° , ChedifilmEesok, mikes (B 1-D.

Bearings place while transportation,allow to place bearings a bit inclination avoid hit and rain.If transporting bearings
without packing by wooden cases,more than three wooden cushion blocks shall be used to separate the product from the
vehicle floor and place it flat. After opening the package,use the transport bolts to screw the hole of inner ring or outer
ring,hang up the bearings on level to the mounting place,the angle between the 2 slings is not more than 120°,s0 as not to
damage the slewing bearing and ensure safety (Picturel-1).

43



EALTE BEMR
—. RE
Storage
D B8 CHAMNHT G 1240 H) 23T e, BHPIEEET MRFERLLN, Bl SOREE
ShERTH S T IS AT B R AL IR . SN R IR VRT3, BI5IR E— BB MG, BANEENE M (2
EHE8%K).

Anti-rust period(within 12 months after bearing ex-factory),if need maintenance,should have anti-rust treatment to the
raceway,surface,gear surface,clear the surface and paint anti-rust grease or industrial Vaseline,fill No.2 pole lithium grease
in inner raceway.

2) FETHTHEI M BRI E BB STK, 28 1E B3 SR B At T RIAE FE DG T 80, JERIZE K
B ARIE. BIIER. Dt MRS ERESOURBIAE RN, R8RSR REE AT A
ZEOPE=AMRARES, HE TEARMENKE - (K 2-1),

Place the slewing bearing on level at dry and plain site to prohibit the slewing bearing contact the ground under direct
sunlight,keep far away from water pipe,steam pipe to avoid bearings corrosion,if many slewing

bearings pile up together,each slewing bearing place at least 3 equal wooden mats around circle position,the position up
and down show be the same(Picture 2-1).

3) MR B SR AT 12 N H, NEHES.

3) If the slewing bearings storage over 12 months,should anti-rust again.

Mmm.."nuouuunnnn".m“
a

"‘“ SO
"‘"luuuuu T nn"""'""

e —T—

'.I...'. Ll
.
...I.....‘....'

tlulli"ouuonu"uunnl

" T
"““l ..IOI‘QQ....... ..‘..T. 1) .......".“M

(& 2-1)
=, ZRAER
Notice before mounting

D RGOTEE, WERRAERSERIE BT REE. 59, BRI RS A R R

Before unpacking the bearing,please check product certificate,product type,serial number,make sure to received the same
products with the contract order.

2) PamASiReE, AT AME SMEE A B AR AR T L

Product type label,on the non-gear face outer dia of outer ring or inner dia of inner ring.

3) HIRREREEKEAS AR, BKERARE X, EMAMEN MR En “S” /7R KX
A T AR KX

Quench on surface of bearing raceway are not closed,quench connection is soft zone on bearing side face that marks’’S”as
non-quench area.

- 44



EALE "ZEMR
4) BB H 7= AL IS g TP B O R T A Z 1. REDIAIRIR .

Make sure to received products without corrosion,wound,damage.

5) BINEHBIRA I, BNEREHE, HFaahARERSRE,
Make sure that sealing no damage otherwise exchange seals,check bearing rotation agility.
6) PR ZRR MBI, 1 RE TN AN Z LB MARE S .
Clear the surface grease of mounting bearing,cleanser can not come into bearing raceway while clearing.
7) TEERL B AR SR, BB NERELT
Forbid to disassemble bearings,move inner parts privately.

M & {5MIPE Check gear side backlash
05 P A R T =AM SRR AR R g bR ], Wz Y
Bk I K A, MR R B N AE 2 AL % (BT 3-1).

Gear ring tooth surface has 3 max runout with green mark,drive pinion

|
I
!
I
I
!
side backlash must be adjusted. !
|

(& 3-1)

VU 22 SO R EK
Bracket requirements before mounting
1) PSR ZFER B ZR T 6 RIEETE, ARTA/PERY. FBE. REAY R EHIAR .

Slewing bearing mounting base level or mount platform must be clean without sundries,broken bits protruding point and
corrosion.

2) BISHLIAH RGHINIE . SREE St i MR RE, B 1k BIRE SORME RN AR T, uadLEI R .
Mounting bracket must be with rigidity,intensity and impact resistance to avoid bearing distortion that influences slewing
precision.

3) RABRIERESEE, APTIESCRATY, BERMETHEBRANAGE, BHTHIMEN T, ¥TA5
BEATHUOIN TR 2238~ 1i, W] DURERE-SFIE#EAT 23 (B 4-1B) .

Adopting canister shape welding bracket to avoid bracket distortion,after welding to treat remove inner stress treatment
the mechanize,you can see Drawings 5-1 A.For uneasy to mechanize mounting plane,can level up to mount( Picture 4-1B)

4) SCHIRRe AN SR 223 AR N, BT 5 KRR (K 4-10) .

Bracket bolt hole is the identical with slewing bearing mounting hole to avoid mount distortion(Picture 4-1C).

5) EIHE X AGERRE M ARER (F4-2), ££0° -90° -180° HIEHEXIBA, RAVH—LigE
2izE; BERWERARFZD FHES LT, AFRBERTT, LR E e (18 4-3).

Slewing bearing connecting surface skills as 5-1 table, in 0°-90°-180°loop area,only allow a wave crest up to the
value,other warp allows down or up step by step,not allowed down or up suddenly to avoid peak value load.(Picture 4-3)

45



1|

BARE HEEMR

o

i
"
(E 4-1)
K 4-2: PO RIS A ATMHFHERDEA
Table4-2:P0 slewing bearing supporting parts connectiong
IR J2) 75 4 4T B G E [ J) 7 AF 4R B A K
BEER (o> | FHEE (L =1A4LED ¢ L=1ANLEE > BRAFEED | WEHEREE Ra
Raceway dia(mm) | Plane AR T R R R R E FIBIRLE o side-face
degree - (st)mm ) 244 (stt Jmm radial width b roughness Ra
Circle border upon unit Circle border upon unit leand( mm ) (mm)
(L=1 bore distance ) (L=1 bore distance )
same direction lean same direction lean
(s-t) mm (s-t) mm
63071000 0.2 0. 0002L 0. 0002L 0.10 2.5
100071600 0.25 0. 0002L 0. 0002L 0.12 3.2
160072500 0.3 0. 0002L 0. 0002L 0.15 22
250074000 0.4 0. 0002L 0. 0002L 0.20 3.2
400076300 0.5 0. 0002L 0. 0002L 0.25 3. 2
PR —— T A A PR TAE R F S0 L MR
table side face plane table soe iace lean st radial width
-,. [0
~r T =
R b
= T
(=S 6
the circle laying bare

46



(& 4-3) b
Mounting requirements
1) K& SHAR S WHXEHANRS RINTEE. TR (BRENE. S ) MNAEFRLE &%
UET7 REREAT 36T o
Check relative parts sizes and process precision,Product parts(including outsourcing,cooperation part)must have
inspection certificate before assembly.

2) RBEERIHZMS, BEEREERES R LAFE R ERRTEME.

Parts assembled by the repair method,main size must fit for design requirements or technical regulations.

3) FEACIA RN AUH T » 5 AR A R AR R L T NS BRI e 4%, NS BRI, k. Efb 52 .
VI BORL. KABFMISEE, JERAFEHROEE K.

Assembling environments must be clean,relative parts with bearings must clean up, without burr,oxidation skin,corrosion
bits,grains,dust,oil dirt etc before assembly, should comply with clean requirements.

4) AR PR LT IERERE . R

4) bearing and parts can not be knocked,scratch and corrosion during assembly.

5) ARV EEERT R SUK, ARPEERREBR LG, MEAGEEHTIA, RA%
K o

Not allow hammer to hit slewing bearings,not allow to transfer mounting wallop through rolling elements,mounting
bearings by proper tools,hanges.

6) K [B1 %% SR KT i TEAE SR BE E A, P 338 FROAS: M0 i 7K Y T 45 SR JBE- P T R ek i 5L, a6 ) B T
PRI HUIN TAE V- B R AR 8 IRV R IRIBR, DAB LR 7 K5 Hh AR AR Y, R[] % SO7K IR H e
(A 5-1)

After the slewing bearing is hoisted on the mounting base horizontally,insert ruler to check bearing plane with supporting
housing connection,in case gap to mechanize to repair or level up to avoid bolts screw down to distortion that influence
slewing bearing rotation regularly(Picture 5-1).

T) AR ¢S 7 MME TIEARX RIS E WX, (BHEERREFRLLEMTEE
%ﬁ%ﬁ ) o ( lg 5_2)

Quenching “S”soft zone locating non-load or seldom load area while mounting quenching soft zone,(plug is around soft
one on ring).(Picture5-2).

8) IWIRHIR R, N T HRGEMI NS, YRR PN RIS SHAMR. £ TELRES, miR

Rk A R Bk s B . ( = MRA R EFCHE ) RIS MBRAF S SO ER. (& 5-3)

Checking backlashto insure gear meshing accuracy and keep proper backlash while mounting. During opetation,ensure
that the meshing backlash at the highest point of the pitch circle runout of the large gear ring (3 painting green marks
teeth)meets the requirements of design accuracy.(Picture5-3).

47



BARE HEEMR

9) I (B ST NSRRI SR FE MR AR IS, JFIRYE IR SR 0L, B ERRESESR, BiEr
PURS 5 B 45 12 GB5782. GB5783 F11 GB3098. 1 ARyfEIEHL, WREFHIGRSEE % GB3098 2 ARifEiLHL.

Adopt high strength bolts while mounting,according slewing bearing press condition to select intension class,bolts sizes
and strength class standard GB5782, GB5783&GB3098.1,nut strength class are selected to standard GB3098.2.

10) LRIRIRH A NRAIABCF R, AR R .

Bolts washer to be used quenching & tempering washer,spring washer are

strictly prohibited.

(& 5-1) (& 5-2) (& 5-3)

11) MR AL AR 10% 0, FIHSTRNARAEN, FHESREREME, MR
FHE P RmZIRTUR, RN 180° FFAXHRITRIGFFA L BRH#HT (& 5-5), HiRiR/E —&igR
FHFIKMTE S, FRHEERARERE RS RE (B 5-4).

When radial load>10%axial load,slewing bearing need radial orientation,after radial orientation,moment wrench has the
same pre-press by low,mid,high pre-pressing,and cross 180°direction symmetry screw down(Picture5-5) to insure the last
bolts with the same pre-pressing,meantime check slewing bearing free rotation status(Picture5-4).

12) ZRIFAENA RBHITER J1, KK OB RHE ARARBR 89 0. 7 4%, 1242 JE IRIZIR S I83% 5-1:
HF0AF BRI TR ST 2 ISR 5-2:

Mount bolts with enough pre-pressing,pre-press is 0.7 times of bolts materials yield limits,bolts yield limits as table
6-1;different dia bolts pre-load see table 5-2:

*5-1: WEREHJE ARAR PR
Table6-1:bolts yield limits

BRAE IR E LR 8.8 10.9 12.9
Bolts strength class
Jee JIR A% PR M<16
Yield limits 640 940 1100
MPa M = 16
660

- 48



(& 5-4)

# 5-2: AFBERIEAE TR AT
Table6- 2:Different dia bolts pre-load

IRFEBREE SR Bolts strength class( GB3098.1-82 )

8.8 | 10.9 | 12.9
il S SRRFTRHEOBREE IR osmin (N/mn?)
Bolts specifications ﬁ%ﬂ‘ﬁé,( mm ) Bolts materials strength limits osmin(N/mm?®)
GB5782-86 Mount hole dia ( mm )
GB5783-86
640 | 900 | 1080
TREHA%E MAC Nm ) Pre-tighten torque MA (Nm )
M12 13.5 77.5 110 130
M14 15. 5 120 170 210
M16 18 190 265 320
M18 20 260 365 435
M20 22 370 520 620
M22 24 500 700 840
M24 26 640 900 1080
M27 30 950 1350 1620
M30 33 1300 1800 2160
TR 57 FA (10°N )Pre-tightening force FAC10® N)
M33 36 293 412 495
M36 39 344 484 581
M39 42 414 581 698
M42 45 473 665 798
M45 48 553 777 932
M48 52 623 876 1050
M52 56 749 1054 1265
M56 62 863 1214 1457
M60 66 1008 1418 1621

49




W EATE EEMR

Inspection after mounting

1) BIFEESRARE, SMINESEREERE, Linkilgigst, EEEEYmh.
1)Before debugging slewing bearings,should fill in proper grease, move slowly while filling to make grease equally
spaced.

2) AN ZEEA N B SR A AR TR, 48 1A 18] 3 SO I # e 22, AR [B1 B SRR LB B

2) Make sure not effect bearing distortion while mounting,not allowed grounding line to weld slewing bearings and parts.

3) PRI R G ek 5 UL, REREKREZGRE, EHSHEERMHAETHIIR,
FHERG T, REARTEHA. &G, EFRlann e, HRXEsECR TR (B6-1)
3) After all bolts are tightened,rotate the bearing more than 5 circles,and check whether the slewing bearing rotates

flexibly and interferes with other parts,whether sealing good,whether have abnormal ringing.After rotation,anew to check
backlash data and take a note.(Picture6-1).

(& 6-1)

. HRTF
Application and Maintenance
1) 2R REARNEE
H7ALEIZ A 100 /NG, KEEN . SHE 2 RIBAR KPR I BER B R EE, LU, |Z#H 500
A A — K
1) Inspection of mounting bolts an abnormal appearance

After bearing rotation 100 hours,check pre-tighten torque of inner ring and out ring, then once 500 hours inspection.

2) AR MBS iy, HIRRARERERENR, MERE, HRREEE, 03NN

2) If coming noise,impact,electric current increasing suddenly in application,stop machine to disport and get rid of
trouble,if necessary,inspect by removing.

50



EAEE BE MR

3) BARMEZEUE, NIEREREER, MHEA kG Wik, fEEREERN, NMERLE
shihK, IEE AR5 BB AR T a5 B E vib. UG ER 100 N FRIE—IK, fEB
SRR BERUR A2 22 B L N n ot 8 S SE 4 0 — 26 . B3R 32 e (R T /5 0 25000 2 36 R T ¥l o
3) After mounting bearings.fill in dedicating grease as user’s requirements.if necessary to ask the maker,filling grease
while rotation,grease equally spaced until grease spills over sealing lips.Once 100 hours filling later,filling grease period
should be short at high temperature and dusty condition.

4) WIHNE 10 RIERZEYW—K, HREERE. X THAREIEE, BEge LERERRL, AP
ARYE BARESR BATIR SR RARIEIEE, HEREROIEIEIE LR (T-1),

4) Gear surface should clear sundries every 10 days and bearing gear lubrication,User can personally select the finest
grease due to combined working elements.Recommendatory grease as table 7-1.

5) (BT IEEE SR Z BN R R Rk, Z5IE K B RshA, LB K#ENRIE, R8s
FYF BN KX

5) Avoid direct sunlight on slewing bearings while usage,can not directly wash bearing with water to avoid water into
raceway,avoid hard forcibly eye-winker access or ingress tooth meshing area.

6) EMERFH KT HR, WREIESEZN. BRI N & B AL,

6)Often check sealing,in case seals aging,damaged,change seals timely,In case fall off,reposition timely.

% 7-1:
Table7-1:
ﬂ%ﬁ 1H¥ S Lubrication
1 EDA
7.0 300 Lubrication
Circumstance condition position v
5 Trademark WHES  Standard
. N RiE 1° 5% 2° AR AR S g GB7323-1994
&I —20°C ~60°C Raceway 1*or2°pole lithium grease
Low temperature
-20° C 60C
U wet st 2G-S = ELE W SH/T0369-1992
Gear Graphite base grease
N 1° 5% 2° SREA L
. N wid 1”01‘2”&)019 lithium grease GB7323-1994
=i 40°C T120°C Raceway 3MoS2 B A45ENE
High temperature 3*MoS2Composed Ca base grease
40’ 'C 7120°C
VR wet
(‘l}_l'f::ﬁ 4 EEEYE S SH/T0376-1992
4"High temperature lubrication
38 ~50°C . MK g i of kR FLRE SH/T0378-1992
R
acevay 2"Al base grease
(Jl;i:l}ff- o £ LS SH/T0378-1992
2"Al base grease

51



WEATE EEMRE

JE& R WEFE & SEERHEHURHIL
Shield machine Ladle turret Bucket wheel stacker reclaimer

ENREAL R E HRER RS
Ship unloader Solar energy

R L BN BE R

Port crane

Ferris wheel

_;?mgg

R T CT 1  EETAREN

Wind power generation Industrial CT machine Offshore platform




EARE EEMFR ™

Ea) Py

: R FHEE
Main machine

Machine model

AT (KN)

| RFEA (KN)
Axial load

{
Working condition Radial load

s

Static

7% /1% (KN. m)
Overturning moment

#:3# (rpm) TAERTIF (%)
Speed Working time

Max

AL
Test:

B

Overl(;ad

w3, MEfRRE BE TR HE
Vibration impact Light Medium Heavy

7 (h)

Service life

ZHTTA

Installation method

K A, #HR EH:
Horizontal: seat type .hang type

7T A B

Usage mode

;—‘—r‘

Vertical Othei‘

(A1 &K : 230

Continuous Intermittence

HE:
Swing Other

Wt T S8 P
Rotating parts

Outer ring Inner ring

g7 fig: VH :
Lubrication method

: HE:
Grease Qil

Other

S
Seal

HhARIS [ F 71

ENERE:

Main machine setting

IR E.:

Bearing setting

Bearing driving
circumferential force

R

Environment
condition

A TAERE

BE (%) .
Humidity

BE (C) :
Temperature

1%

Pollution

Bearing operating
temperature

53



WHHEB R TA R

Luoyang Hengchang Heavy Machinery CO.,Ltd

EHEH: WHETEZKERBE A X 4 58 507
VI k| S E b i) P = A | 4

HiiE: 13837962060C R ()

FA4tt: https:// www.hgbearing.net/

BE48: cindy@hgb-bearing. com

Sales Add:507, Building 4, Zone A, National University
Science Park, Luoyang

Factory Add: Ximagou Industrial Park, Jianxi District,
Luoyang, Henan, China

MB: +86 13837962060( Wechat/Whatsapp )

Website: https:// www.hgbearing.net/
Mailbox: cindy@hgb-bearing. com (Overseas)





